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(PERCENTAGES)

INTRODUCTION
Percent means the result for every hundred.
The symbol % can be replaced by a fraction
whose denominator is 100.
1. Ravi got 60% of marks in English exam

60
out of 90 means, he scored RxQO: 54 marks

Percentage can be expressed in the form
of a fraction or adecimal as folloas:

[25% - 25 lOI’O.ZSJ

100 4

Some useful fractions are:

20 1
20% = =-  o5pp=2 -1
100 5 100 4
50 1 75 3
50% = =—  75%=-—=_—
100 2 100 4
2 50 1 1
16—%=—x— =—
3 3 100 6
1 100 1 1
3B-—%h=—x— =—
3 3 100 3
2 200 1 2
66—%=—X—=—
3 3 100 3

A fraction or a decimal can be converted into
a percentage as follows:

1 1
— =—x100 = 50%
2 2

1 1 1
—=—x100=12—%
8 8 2

0.6 = 0.6x100 = 60%

0.75 =0.75x100 = 75%

FORMULA
X iIswhat % of y

X %100

\

y

EXAMPLES
1) a) 18 is what percentage of 72?
72¢6° 18 Qo BBL5N?
b) What percentage is 28 of 70
70¢° 28 Qo BBKNH?
c) 16 m is what percentage of 8 km
8 8.50.8° 168». Dod B&Lt0?
2) a) 80% of 70+40% of 90=?
b) 25% of 96+75% of 48="
3) 30% of a number is 180. What is 40% of
the number?
a8 éoaaéé‘s 30% endd 180 wans @d éospegé‘g
40% Dend D0&8?

4) 20% of a number i1s 60. What is 15% of
the same number?

5) 34% of a number exceeds 14% of the
same by 80. What is the number?

a8 6033565‘320 14% DenSET, ) éoaaagess 34%
Densd 80 BN, & Dogy d?

IT a nurber Increases by 10% of It, it
becomes 110% of i1tself.

Similarly it a number decreases by
10% of i1t, i1t becomes 90% of itself.

6) A number when increases by 20% of 1t,
gives 96. What is the number?

a8 éogpagzéa 20% HoDVIS® wQ Jend 96
D, @ond & Koy d6?

7) A number when decreased by 12% of
it, gives 220. What is the number?

a8 Boggd 12% SRodIS® o0 Jend 220
D, @ond & Koy d6?
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8) IT 30% of a number, is added to 42, the
result is the number itself. What is the
number?
2.8 DoggE TRERR 30%: EOVIT® TR Dend
42 oD%, & dogy d6?

FORMULA
if a quantity is increased, then the
percentge of increase

_Increase %100

~ initialvalue
Similarly, 1faquantity is decreased,
then the percentage of decrese

_ decrease
initialvalue

9) The price of a book Is increased from
Rs. 400 to Rs. 418. What is the percentage
of increase In Its price?

&8 HIBS0 Dewd . 400 o& . 418
ONSSE, T DHHBO dod FEL50?

10) The number of students in a school
decreased to 160 from 200. What is the
percentage of decrease iIn the number of
students?

11) The weight of a bag 1s 60 kg- But in a
hurry 1t is measured as 61.8 kg. What is
the percentage of error In measuring its
weight?

.8 Kod 2% 60 8Pen. A BTN
61.8 8Penrr EOASS®, & Foss® hsw
Q0 FSHI0?

12) In a school of 400 students 36% of the
students failed iIn the exam. What is the
number of students passed the exam?

13) Mr. Ramu spends 30% of his salary on
food, 10% on house rent, 8% on
tranportation, 15% on children education,
9% on clothing, 8% on other expenses and
saves Rs. 1,400 per month. What is his

salary.

\

14) A student has to get 38% of marks to
pass the examination. Kiran got 82 marks
and failed by 13 marks. What is the
maximum mark?

a8 H05s® é,égééa 38% Sr8nen SRSK.
856 82 Sotoen FPobdEr 138 Srdne Bres®
POVOONTCED. & éég@’s ﬁ@g S0e8)BY?
15) In a school of 600 students, 40% are
girls. 30% of the boys and 50% of the girls
Tailed the exam. What % of the students
in the school passed the exam?

16) In an election, two candidates
contested. A candidate got 36% of the
votes polled and lost to his rival by 5600
votes. Find the total number of votes
polled?

B wgfhoro IPSS® .88 36% &y
SIS (B0 TBS® 5600 &t & LA,
00N NG &tn IY?

17) 60 Iitres of a mixture of milk and water
contains 35% of water. 1T 10 litres of milk
is added, what will be the percentage of
water in the resultant mixture?

60 D& Qo(Fos® 35% D, HADSH e
0. 68 10 é)éoépg Hen EOD5TE,
DFEH508* B wdo Dod Horkn?

18) The value of a box Increases by 20%
annually. 1T 1ts present value is Rs. 700,
what will be 1ts after 2 years?

a8 DPFE J05&BI0I8 20% FPHPS
B0, (5085 e Dendd K. 700/~ ean,
2 [05&)5500 Box® TP Dendd 2o Hotdn?

19) The value of a building decreases by
10% annually. IT 1ts value Is Rs. 20,00,000,
what will be 1ts value 3 Years hence?

a8 308 §8 VoIEBB0IH 10% S,
(0850 0 Qensd . 20,00,000 eonSsP
3 K05&)Bne SoXS TP Dendd Do Hotdn?
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20) In a factoty, 10% of cars are blue, 40%
of the remaining are red, 25% of the
remaining are white and remaining 162 are
green in colour. What is the total number
of cars in the factory?
a8 rE08° 10% 508y JDBorHS®, S
TS 40% 2 d) BoiSE, PADS &S
25% 5°8) Bens) BorHe® £r8050 HADS 162
5°8) DY) Borpe® DN, Ik 528 Y ?
FORMULA
Ifa>b, aismore thanb

fa—b

by x100 (%
If a<b, a is less thanb

b-a

x100 (%

by

21) IT A is more than B by 25%, by what
B is less than A?

A Qe B 879) 25% QEndS°, B Deodd A
Eom) Dod TEK0 SEND HorS?

22) A and B are less than C by 40% and
20% respective. By what percentage A i1s
less than B?

A,B o0 SB0dre C 8x%) 40% 08cs» 20%
éé}&&ém DY, wooze A, B B Jo& B850
BENN?

23) The price of sugar is increased by 25%
pre kg. By what percentage the
consumption of sugar be reduced so that
the expenditure on this account remains
constant?

£5§276 B8 25% DOAIE. oI BY) ‘:’é})ézéwm
NoWotrEr TAIPEESD Dok oS HDw
BNOBHB0?

FORMULA _
IT a% and k% are two successive changes

b
thenthe oerall cenge=a + b + =

24) The price of VCD player is decreased
by 10% there by its sales is increased by
20% what is the percentage change in the
tumover for the shopkeepre?

VCD &8 10% 819é> S0 & es58sm 20%
OAKE. Bond Bwddn FTgErEENE® Kb

D0& FSI0?

( EXERCISE )

1 32 is What percentage of 128?

1) 20% 2)25% 3) 30% 4)40%
2 26 is what percentage of 1307?

1) 30% 2) 25% 3) 20% 4) 28%
3 What percentage of Rs. 350 is Rs. 182?

1) 102% 2) 52% 3) 68% 4) 72%
4 70 Ps. is what percentage of Rs. 28?

1) 5/2% 2) 3/2% 3) 8/M% D 2/P%
5 16 m is what percentage of 8 km?

1) 13% 2) 14% 3 2% 4) None
& 25% of 96+75% of 48 = ?% of 80

DD 2 a0 3) 60 DT
7. 70 percent of a number is 140. What is 68% of the number?

a8 éoaaagé's 70% Qensd 140. & éospéés 68% Qend No&s?

1) 156 2) 136 3) 176 1) 196
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17.

30% of a number is 180. What is 15% of three times of the same number?
a8 éoaaagés 30% Qensd 180. @ éospéé) 3 BQ@G 15% Qend Jos?
1) 160 28 3) 20 4) 270

39% of a number exceeds 19% of the same by 48. What is the number?
a8 éoaaagés 19% Dend8T%) 39% Densd 48 HENN. & Dogy d?
1) 180 2) 260 3) 240 4 280

A number when increased by 30% gives 78. What is the number?
.8 Doggd 30% 205 T Dend 78 iHdo. & Qdogy d6?
1 66 2) 60 3 a 4 0

A number when decreased by 14% of it, gives 215. What is the number?
.8 Doggd 14% é@oé):éﬁs o Dend 215. & Kogy d6?
1) 270 2) 25 3 250 4) 240

40% of a number, when added to 42, results in the number itself. What is the number
2.8 Soggsd, RS 40% Jeodd EOBIS® b 42 wrhd. @ Sogy d&?
160 270 380 HO

24% of a number, when subtracted from 74._4, gives the number itself. What is the number?
2.8 Sogg 008, TS 24% Jend é@oé);éﬁs @b 74.4 orhd. & Jogg HB?
D70 2)65 3) 60 480

In a fraction, the numerator is decreased by 25% and the denominator is increased by 50%
then the value of the fraction becomes 3/4. Find the original fraction?

a8 é’,):écléwesﬁ, 0330 25% é@zé&. B850 50% HBAIG. Tl Dend (HES0 3/4. @onsd &
5)26&33&)?

D34 23R 3 3s DH3IN

The price of a book is increased fron Rs. 70 to Rs. 84. What is the percentage of increase in its
price?

28 DIBEI B . 70 oo . 845 oLadId. DEIDHEO o8 TELID?

1) 40% 2) 20% 3) 60% 4) 70%

The number of students in a school decreased to 220 from 250. What is the percentage fo
decrease In the nimber of students?

1) 10% 2) 11% 3 12% 4) 13%

The weight of a box is 40kg. But in a hurry it is measured as 41.8 kg. What is the percentage
of error in measuring Its weight?

1) 4% 2) 4.5% 3) 5% 4) 8%

Ravi spends 82% of his aslary. What is his savings if his salary isRs. 12,000?

1) Rs. 1960 2) Rs. 2160 3) Rs. 1940 4) Rs. 2040

In a school of 800 students 21% of the students failed in an exam. What i1s the number of
students passed the exam?
1) 726 2) 632 D721 4 741

) ) ) D
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. Mohan spends 30% of his salary on food 10% on house rent, 8% on transportaion, 15% on
children education, 9% on clothing, 10% towards other expenses and saves Rs. 2160 per
month. What is his salary?

- Ravi scored 82% of marks in Paper A out of 50 and 48% of marks in Paper B out of 75. What is
the percentage of marks he scored in two papers?

89 D88 A &° 50 Lrtned 82% $0bakw H8F B & 75 Srdnetd 48% Srtnen SPobme.
EVWL VW S0t 088 Dos S eﬁ:oéogre:o SHR0?

1) 60.8% 2) 61.9% 3) 61.6% ) 61.8%

_ A student has to get 40% of marks to pass an examination. Kiran got 89 marks and failed by 31
marks. What is the maximum mark?

2.8 H6gS° c%égéé) 40% Srtnen sH8%. 866 89 Lrtnen SPobEr 31 Lrdnen SEHHM
JNDD. o0 & éég@s 508 Lr8nBY?

1) 200 2) 30 3) 600 4 280

. In an examination Raju got 37% of total marks and failed by 39, while Kiran got 73% of total
marks got 69 marks more than the necessary to pass the exam. What is the percentage of
marks required to pass the examination?

a8 éég@s ooe 37 % So8en od, 39 e B’ DowwonTeE. ©8 éég@s 88% 73%
FPob SRS TRETY) 69 St ENS OB, ©@ HOES® $BBEH ToHORS SrEnBY?
1) 40% 2) 50% 3) 60% 4) 45%

- In a school of 300 students, 40% are girls. 30% of the boys and 50% of the girls failed in an
exam. What % of the students in the school passed the exam?

300 ook Sbatgéae)ess 40% e®Een. erendS® 30% 508050 erO8oS® 50% oaéé 00D,
IOV VW FVW 3)@5630638 Q0 TS0 e@éo@oaaméﬂ

1) 3% 2) 36% 3) 61% 4) 62%

. Two candidates contested in an election. A candidate got 34% of the votes polled and lost to
his rival by 5120 votes. Find the total nurber of votes polled.

1) 12,000 2) 14,000 3) 16,000 4) 15,000

. In an election between two candidates, 20% of the votes polled are invalid. A candidate got
60% of the valid votes and won by a majority of 6400 votes. What is the total nurber of votes
polled?

a8 IPES® 20% Lt TpBeh. TS TBS° 60% Ly FrobD Y, ©SG (HEBD 6400 &
3@55 RO, o Fnkn Seond Léy AY?

1) 54,000 2) 32,000 3) 40,000 4) 48,000

. 80 Itres of a mixture of milk and water contains 35% of water. IT 4 Irtres of milk is added, what
will be the percentage of water in the resultant mixture?

80 e M(F050® 35% D% WADIS Jren Eox). HIS 4 Herd Fren BOHISE, & Qo(FoSns®
OO BSD08?

1 2
1) 20% 2) 21% 3 33-% £H16—-%

(&



. The price of a book increases by 10% annually. If its present price isRs. 800, what will be its
price after 2 years?

2.8 HJBIL F8 DoDEBINIL 10% PHPS DB0rHD. (S0 ool Jendd K. 800. wond
BotH VORNEBH0e SRS PR Dend o8 Hotd?

1) Rs. 1006 2) Rs. 1112 3) Rs. 1009 4) Rs. 968

. The value of a machine decreases by 10% annually. IT its value Is Rs. 1,20,000, what will be its
value 3 hence?

2.8 00o(B30 Dendd HoDHEBINIE 10% 2BorH. el Dendd [dyEw . 1,20,000 @26&55, 3
Q0D B0e STRE P Dend o0& Hothd?

1) Rs. 86,000 2) Rs.87,460 3) Rs.87,480 4) Rs. 81,640

. The number of empoyees in an office is Increased by 10% and by 20% In two successive years.
IT the present strenght of the office is 792. What was the number of employees in that office
two years ago?

950’ e&%ﬁ@p éogpg ERoTAlos) Q0DEB0 10%, Bossd Ho5&B0 20% DOAIG. (0S50
792 Sood 6655?%@26&55, B0 HoNS B0 (BB50 QodLD HoRETL?

1) 700 2) 600 3) 650 1) 480

- In a factory, 20% of bicycles are blue, 40% of the remaining are red, 66% of the remaining are
white and the remaining 102 are green in colour. What is the total number of bicycles in the
factory?

a8 rE0S° 20% 28y JDBoHS®, WA B 40% JBPH Borbs®, LADS BS® 66%
Ben®) Borbs® HBA® YWADS 102 HHBorHS® HHD. and Indsn 8FRY?

1) 400 2) 600 3) 625 1) 675

. IT A 1s more than B by 20% by what% B is less than A ?
A 8)@? B 85 20% 8. @éxozé B dend A E3%) 08 P& SEND?
D 165% 2 165 3) 17 4) 18%

. In a school, the number of boys is less than that of girls by 20%. By what percentage the
number of girls is more than that of boys ?

28 B epend 60395 erdBe8an 20% éé)&&ﬁ. ®ond erdie éogp& 2rend éogpééag Q0
S0 aé)&eé?

1) 20% 2) 25% 3) 40% 4) 60%

. X ismore than Y by 20% and Z is less than Y by 20%. By what percentage X is more than Z ?
1) 60% 2) 40% 3) 50% 4) 30%

. A and B are less than C by 30% and 20% respectively. By what percentage A is less than B ?
1) 10% 2) 11.5% 3) 12.5% 4) 16.5%

. The price of onion is increased by 10%, by what percentage the consumption of onion be
reduced so that the expenditure on this accounte remains same ?

SOTOHO §8 10% 0BAIH. wanSSe B “”geﬁmm NDOKLB T TPEEID Q0S8 TS0
éiéeﬁ@é)?

1) 10% 2) 9 11/11% 3) 11 /%% 4) 16%

=N\
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37. The price of a mobille phone is decreased by 30% there by its sales is increased by 40%. What
is the percentage of change in the turmover of the shopkeeper ?
0BS TP &8 30% é?‘io)eaéozé, & @éaéééw 40% DOAIE. @ond o a‘g@véeﬁwé’s
30°8)) Do BFEKD?
1) 10% Decrease 2) 2% Decrease 3) 20% Decrease 4) 10% Increase

3. The side of a square is increased by 10%. What is the percentage of increase in its area ?
2.8 SHYRI0S ghesin 10% HBAKE. o0 JTegkns® BBHHEe Jod KW ?
1) 20% 2) 21% 3 2% 4) 28%

3. In aclass 44% of the students passed English 70% of the students passed Teluge and 21% of
the students passed both the subjects. What is the percentage of the students failed ?
a8 S818S* 44% Degen eoiisws?, 70% DegBen Benips® e%éeaagé 21% dorgoen &
Bo&Bst 6%68%;6_2658, POVLONS &*8 FEID Do&?
1) 6% 2) 8% 3 ™% 4) 11%

2. In a college 30% of students are Arts graduates. 40% of the rest are Commerce graduates,
50% of the remaining are Science graduates and the remaining 210 are Management graduates.
What is the total number of students in the college?

o8 Seeaced® 30% S)wegégen eeécayg @i:oo“g)és ok, ADS 8e® 40% 92635“) L?ﬁ:v?’.g)esa ok,
DADZTTBS® 50% &) Ir0S° H00am DHADS 210 Hod BS8 ((KrHS°® H. wowd ©

Seearod® Indo DTgBeD OLBO?
1) 960 2) 1000 3) 1080 4) 1240

KEY

1)2 D3 32 H1 54 6)4 D2 84 9D3  10)2

11)3 12)2 13)3 142 152 16)317)2 18)2 192 20)2
2)3  22)2 23)2 24)4 2%5)3 26)327)3 28)4 29)3 30)2

3)3 322 33)2 33 33 36)237)2 3)2 393 40)2




PROFIT AND LOSS)

INTRODUCTION

The price at which, an article is purchsed
is called “COST PRIE” (CP) and the price at
which it is sold called “SELLING PRICE” (SP).-

Profit=S.P. -C.P PN =. 3. -8°. 3.

Losss =C.P - S.P. :6@26;3 =8.3.-9.3.

Pr ofit(or)Loss
Profit (or) Lossi= # X100

1) Rama bought a book for Rs. 40 and sells it
for Rs. 44. What is his gain percentage ?

2) Aman purchased an article for Rs. 800 and
sells 1t for Rs. 640. What is his loss
percentage?

IT he C_P. of the article is given, to get the
selling price, we have to multiply the C_P.
With a suitable fraction

3) Ashop-keeper purchased a bag for Rs. 900.
At what price he has to sell the bag to get a
gain 20%7?

2.8 %09 BHR0 8.900. T D S S’
20% egisn S

4) The cost price of a table isRs. 1200. At what
price it should be sold to get a loss of 20% ?
a8 g &) §8 .1200. oA D 8B
@81)&:655 20% :6%)126;3 HENK0?

5) By selling an article for Rs. 720, a loss of
10% is made. What is its cost price?

a8 DD 8. 720% @aéaém, 10% 26@2633
JND6. o FHJo do8?

6) By selling a box for Rs. 630, a loss of 10%
is dotained. At what price the box must be sold
to get 20% gain?

a8 33@263 &.630% @aéaérv 10% égeﬁ:; BN
0P 20% ergfdn SPLE Jdod I
@éag&é@;ﬁ;?

VarS

7) By selling a watch for Rs. 960, a profit of
20% is made. What is the gain or loss
percentage, if it is sold for Rs. 760?

28 BNEATPES0 . 9605 @eéa&m, 20% erg530
H)%0. TR Bo. 7605 ©SS® ergln B8
zégéaa Q0 FPEA0 Hotddn?

8) Amar sells a bicycle to Manu at 20% profit.

Manu sells 1t to Raju at 10% loss. ITRaju pays Rs.
648 for it, at what price did Avar purchese It?

9) Mr. seshu mixes 26 kg. of tea powder
purchased@ Rs. 200 per kg. with 30kg. of
another variety purchased @ Rs. 360 per kg.
He mixes the two and sells the mixture at Rs.
300 per kg- What is his gain percentage?

10) The lass obtained by selling a book for Rs.
760 is same as the gain obtained by selling it
for Rs. 1140. What is the cost price of the
book?

&8 HRBBJ0K . 7608 @aéaém ) :6@2633,
eI Bo. 11405 @Eﬁ)ém H) rgfSnIB
087235, ©od Tl §°) 8 Q0&?

11) Rajesh sold a pen at 12% profit. Had he
sold it for Rs. 18 more, he would have gained
18%. What is the cost price of the pen?
ooER a8 N0 12% S0 @&é@é}.
8% A L. 18 JEIT 0SS 0888
18% ergiin H5y). ®ond & ) FY) Jo
Q0&B?

12) A shopkeeper sold an article at 10% loss.
IT he had taken Rs. 98 more, he would have
gained 4%. \What is the cost price of the article?
a8 a‘g@ba 30D 10% éémwzééa @33&263.
S YOBIP K. 98 BSS0ore @“w%"é&ﬁ’e 4%
g0 HORED. @S & SR EYHI© Jod?
13) A fruit seller buys oranges at 9 for Rs. 16

and sells them at 11 for Rs. 22. What is his
loss or gain percentage?

P



a8 atg@% &°Q) Dogo, L. 165 9 TIPS
R0, A 8k L. 225 12 Hog TP
@aa&m oS8 ergfin 8% égzﬁw Q0 B0
HotH?

14) A shopkeeper purchases two books at Rs.
400 each. He sold one book at 10% gain and
the other at 10% loss. What is the total loss or
gain In percentage?

a8 a°§©°6 2 HREHI00D ddoedadwre K. 400
TP E'I%0. &8 e 10% ergidnds, 289
oA 10% sgmééo @53@/50. Emgéé:oibcﬁ
eegsn B :6@26;3 Q0 Hoton?

IT the C_P. of two article is sare ad they
sold such that there is &% gain on one and &%
loss on the other, then there willl be no loss
cain inthe deal

15) A company sells two computers for Rs.
24,000 each. One one it gained 20% and on
the other it lost 20%. What is the overall gain
or loss percentage?

2.8 80 Bowd Boxrgtrddy JErStoe &.
24,000 S°3pS e930. ISP 20%
eegfdm, BoKd TP 20% Q0 SNIB.
SwFone ergsn B SHEn dod TEL?

— S

IT thes S_P. of two articles is same such
that there is &% gain on one and &% lass on
the oter,

axa a?

then there will bealossofm= 100

0,

in the total transaction.

16) A shop—keeper sells two books for Rs. 1040
each, and he gains 30% on the first and loses
20% on the second. What is the gain or loss in
percentage in the whole transaction?

Vol

/

a8 ag@“a B0 HRBHINOD JSoeddnre L.
1040 <8P @Sbé:écfg)é), oSBT 30%
PP, BokN D 20% 26%263; JINIB.
wézﬁwﬁbcﬁ erdssn S8 ;6%312633 Q0& FSEA0?
17) Mahesh bought two bags for Rs. 900. He
sold one bag at a gain of 20% and the other at
a loss of 4% and he found each bag was sold
at the same value. What is the cost of the bag
sold at a gain?

$03r8 Botd ergiod . 9005 k. ke
A 20% P05, 285 eI 4% ééésozééa
@&&@éz. ) 6:93)3&26 QenHden ééﬁé@_ﬁéﬁs,
S0S5E ergh B o oE?

18) A dishonest dealer promises to sell rice at
the cost price but uses a weght of 96 kg.
instead of 100 kg. What is his gain percentage?
a8 aard Dot %) $8E wndenrr

BHpse, 100 8.(r.o 2theore 96 &.(v.ed
$o(853% 0T, WSEEE PTEDHoS?
Cost Price__+  Marketing Price
. @
List Price
- DISCOUNT Selling Price

19) Two Successive discounts of 10% and 30%
are equal to a single discount of what
percentage?

Botd SO ET?0en 10% 00 30%en dod
ER°)0ensd HeSS0?

20) A shop-keeper marks his goods 20% above
the cost price, but allows a discount of 10%.
What is the gain or loss% obtained by the
shop-keeper?

28 g0 EHEEH 20% od (DELIIe
@50, T 10% &%)085 cwd)dS wB&8
orgsn B8 IHF0 Vo FBL00%0?

(@)
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21) The marketing price of a book 1s Rs.240.
Two successive discounts of 20% and 10% are
given on it. What is the selling price?

28 HAEHD (HELI[e K. 240. = 20%,
10% &%"&oé.;gﬁ 5{%2658, o @Sbaé:é I do&?

22) After getting two successive discounts of
20%, 10% a customer purchased a toy for
Rs.432. What is the list price of the toy?

a8 83"2635.3 20%, 10% &%"&o@ oS Boxd,
28 QAR B, 4328 I, T (DB
I do&?

23) The list price of a box is 30% above the
cost price. After allowing a certain discount, a
profit of 1% is made to the shop-keeper. What
is the rate of discount?

a8 DY FYHIoET), (HEOII0 30% 8.
PR Qo0& &0t oINS, 17% e°gfssn
HoKH?

24) 1T the cost price of 20 pens is equal to the
selling price of 16 pens, what is the gain or
loss percentage?

20 3)263&&) §°26&3e> 16 3)263&@) @&1)&26 08
JEP550. ®ond ergfdn S8 égm Dods
BoSES0?

25) A shopkeeper wrongly calculated his profit
as 10% on 1ts selling price. What is the real
gain percent?

a8 Tgard ergfdnd odd3eP 10%m
B88)0DT°. 58 Qazdore S o Jod
FE50?

( EXERCISE J

1 Raju bought a bag for Rs.300 and sells it for Rs_360. What is his gain percentage?

1) 20% 2) 15%

3) 17% 4) 23%

2 Krishna purchased an article for Rs.900 and sells it for Rs_810. What is his loss percentage?

1) 20% 2) 10%

3) 12% 4) 16%

3 A shop-keeper purchased a bag for Rs.360. At what price he has to sell the bag to get a gain of

20%.

1) Rs. 408 2) Rs. 416

3) Rs. 432 4) Rs.428

4 The cost price of a box is Rs.850. At what price it should be sold to get a loss of 20%?

1) Rs.620 2) Rs.640

3) Rs. 670 4) Rs. 680

5 By selling an article for Rs.520, a lass of 20% is made. What is 1ts cost price?
&8 S K. 520% @aéaérw 20% ééé:o éz‘DQ:é%SS, o 30 Q0&?

1) Rs. 620 2) Rs. 650

3) Rs. 610 4) Rs. 680

& By selling a book for Rs_540, a gain of 20% is made. What is the cost price of the book?
&8 HRBEHI0KH . 5408 @éaém, 20% ez SN0, T IO dod?

1Rs. 650 2) Rs. 250

TN\

3) Rs. 400 4) Rs. 450

aD



4.

By selling a bag for Rs.380, a loss of 5% is obtained At what price the bag must be sold to get
a gain of 10%?

a8 0D &. 380% @zéaém, 5% 26{&2633 265332658 A 10% rgidn S dod HB5H
OLHBR?
1) Rs. 460 2) Rs. 410 3) Rs. 420 4) Rs. 440

A gain of 30% is made by selling a book for Rs.390. At what price it should be sold to get a
loss of 25%?

&8 HIEL0D . 3905 @Eéaérw 30% ergin SPIB. e 25% ;6@2633 JTNEB Dod HBH
OLHBR?
1) Rs. 285 2) Rs. 225 3) Rs. 375 4) Rs. 275

By selling a book for Rs_480, a profit of 20% is made. What is the gain or loss percentage, if it
is sold for Rs.352?

&8 DA 8.480% @zéaérw 20% egisn SN, T . 352 @éaérw eridn &8
:6@26;3 Q0& FPEID Hotddo?

1) 10% loss 2) 12% loss 3) 16% loss 4) 10% gain

Raju sells a bicycle to Raju at 30% profit. Raju sells it to Mohan at 10% loss. 1T Mohan pays
Rs.234 for it, at what price did Raju buy it?

1D Rs. 250 2) Rs. 200 3) Rs. 310 4) Rs. 280

A shop keeper mixes 10 kg. of tea ponder at Rs.150 per kg. with 35 kg. of another variety of
Rs.100 per kg- He mixes the two and sells the mixture @ Rs.150 per kg. What is his gain
percentage?

1) 7.5% 2) 10% 3) 15% 4) 35%

A fruit seller bought 100 lemons at the rate of ten for Rs.6. Twenty of those lemons are spoi led.
At what price per dozen he has to sell the lemons to get a gain of 50%?

a8 atg@% 10 (‘Oéaésc’o‘éae):éa . 6 TPHPS Iwgso 100 c‘{)zﬁ)és*xﬁw;ﬁ) 3%, 8BSt 20
LoD, WADS B Ka3dd Vo HEH @8))&:655 0308 50% ergidmn H5)K?
1 Rs. 18 2D Rs. 15 3) Rs. 13.50 4)Rs.9

The loss obtained by selling a bag for Rs.76 is same as the gain obtained by selling it for
Rs.124. What is the cost price of the bag?

28 D0DD 76 BrarchHeosd @é)ém 3 26@2633 A Bo. 124% @eéa&rw RISV IISLEARSWINEY
05735m. ol Tl §°Q) o dod?

DRs. & 2)Rs. DO 3) Rs.93 4 Rs. 100

IT biscuits are bought at the rate of 18 for a rupee, how many biscuits must be sold for a rupee
to get a gain of 80%?

a8 Brarch® 18 ARSI T8 80% ergim Jeod, a8 BEParoHEd Y @é:)éé@éé)?
D8 29 3) 10 H1

TN\
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17.

A shop keeper sold a hat at 12% profit. Had he sold it for Rs.24 more, he would have gained
18%. What is the cost price of the hat?

8 aard 12% ergindd a8 SPHY olyl. ©dl Bo8ir K. 24 JERHT 0SS’ 18%
g HTNK0. o & %8 IO d08?

1) Rs. 360 2) Rs. 390 3) Rs. 400 4) Rs. 520

A trader sold an article at 10% loss. IT he had taken Rs.98 more, he would have gained 4%.
What is the cost price of the article?

1) Rs. 700 2) Rs.108 3) Rs. 660 4) Rs_210

A material is purchased for Rs.6000. IT one-fourth of the material is sold at a loss of 20% and
the remaining at a gain of 10% , what is the overall gain or loss in percentage?

§°08 D% . 60005 & TS 1/485 Hosh dHgk 20% égéwséé), DADS AV 10%
€8I0 @&13@2655 0SB0 ergidw 88 :6@26;3 Q0& FSI0?

1) 4% 2) 6% 3) 2.5% 4) 7.5%

A shopkeeper buys pens at 11 for Rs.10 and sells them at 10 for Rs_11. What is his loss or gain
percentage?

2.8 ag@“@ %. 105 11 dkg)en 3. A K. 115 10 bdnew FPHpS @3}&@&3. ©o0S
ePEIH0 Do B0 ?

1) 21% 2) 10% 3) 13% 1) 20%

A reduction of 10% in the price of a pencil enabled a man to purchas 9 more for Rs.540. What
is the reduced price of the pencil?

33?3‘3%‘%) % 10% ééﬁgéo Sod, a8 . 540 aaéaé‘z”o, 9 33&)“)%‘%)263 EH50T Sy S,
®ond NS Dendd BNS BoRE 08 HYHB?

DRs.18 2)Rs. 45 3)Rs. 58 DRs. 6

Ravi purchases two bags at Rs.300 each. He sold one bag at 10% gain and the other at 10%
loss. What s the total loss or gain In percentage?

1) 15% gain 2) 10% loss 3) 20% gain 4) No loss or no gain
A company sells two computers for Rs.24,000 each. On one it gained 25% and on the other
lost 25%. What is the overall gain or loss percentage?
1 6.5gain 2) 6.25% gain 3) 75% gain 4) 6.29% loss
A shop keeper sells two bags for Rs.520 each, and he gains 30% on the First and loses 20% on
the second. What is the gain or loss in the percentage in the whole transaction?
a8 a°§©°6 2 exgrhen &. 520 TP DS BB @33&263. FEETID 30% e°gsm, Bosd
> 20% égzﬁw 268326{5'5 0SB0 ergidw 88 égzﬁaa Q0& FSEA0?
D 1312 2) 20/21% 3) 30% 4) 15%
A shop keeper bought two books for Rs_500. He sold one book at a gain of 20% and the other
at a loss of 20% and he found each book was sold at the same value. What is the cost of the
book sold at a gain?

7\

@



2.8 a0 B0 HREIWeL &. 5005 E°[. 2.8 T 20% ergdnd, BoKks wed 20%
DRB0IB @I, 8 ©INED Dendd DEPSDISE, 0B HHES0 IO do8?

1) Rs. 400 2) Rs. 300 3) Rs. 200 4) Rs. 350

. A dishonest dealer promises to sell sugar at the cost price but uses a weight of 95 kg. instead
of 100 kg- What is his gain percentage?

1D 14 1/6% 2) 5% 3) 55/1% 1) 6%

. A shop keeper marks his goods 30% above the cost price, but allows a discount of 10%.
What is the gain or loss % obtained by the shop keeper?

1) 20% 2) 17% 3) 25% 4) 16%
. Two successive discounts of 20% and 30% are equal to a single discount of what percentage?
1) 50% 2) 44% 3) 46% 4) 56%

. The marketing price of a book is Rs.120. Two successive discounts of 20% and 10% are
given on it. What is the selling price?

2.8 HIEI (BELIBo &. 120. o0 20%, 10% &0y HHS, T ©S IO 0B?
D Rs. 8.40 2)Rs. 42.40 3)Rs. &4 4D Rs. 78.20

. After getting two successive discounts of 12%, 10% a customer purchased a toy for Rs.633.60.
What is the list price of the toy?

2.8 &5 12%, 10% &T°)0ex SPobS E6ard e &.633.60. 0 AR 3.
T (D8I o D0&?

1 Rs. 700 2) Rs. 800 3) Rs. 750 4) Rs. 850

. The list price of a box is 40% above the cost price. After allowing a certain discount, a profit
of 26% is made to the shop-keeper. What is the rate discount?

2.8 SHD EHIETY) (@8I0 40% BN, TP E0& )00 aniSe, 26% ergisn
JYPI6. @ond EJ20tn PESD Jod?

1) 20% 2) 35% 3) 15% 4) 10%

. A shop keeper purchased a article at 20% discount on its printed price and sold it at 12%
more than the printed price. What is his gain percentage?

a8 atg&ﬁ@ I T (DELII0D 20% é@o@%a R, o (DBOD Jop 12% D
Qe @&&@cﬁ;. 0SE&E gD Do FBEHID?

1) 18% 2) 40% 3) 20% 4) 50%

- IT the cost price of 40 pens is equal 1o the selling price of 30 pens, what is the gain percentage?
40 3nen E°HF8, 30 XY @8)3&26 HB8 J578000. oD erEIdn 0o BBKD0?

1) 33% 2) B3 3) 25% 4) No change

_ By selling 80 oranges, a fruit seller gains the cost price of 20 oranges. What is his gain
percentage?

a8 SBBH 80 Hogo @zéaérw o388 20 Dok EYHES ergfdnre S8, TS0 Hos?

1) 20% 2) 30% 3) 50% 4) 25%
N\
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3. A shop-keeper buys two bags for Rs.900. He sells one box at a gain of 15% and the other at a
loss of 30%. On the whole he has neither loss nor gain. What is the cost of each box?
a8 a°§3°6 B0 Johod K. 9005 @3:&263. 28T 156% egfsdn, Boisd el 30% :6@25:0
JNDO. FnGSw @5%6263368 PSR, Sééé:orw‘% S, ®ond & Bod Dohe E)Feoen
Qoes?
1) Rs.450, Rs. 450 2) Rs. 600, Rs.300 3) Rs. 470, Rs. 430 4) Rs. 520, Rs. 380

3. A trader wrongly calculated his loss as 25% with respect to selling price. What is the actual
loss percentage?
a8 @53%5 [SEATNVINY) @3))&263@3_) 25%1v 88007, BEE Dasdnre HINS eredn Jod FEI?
1) 18% 2) 20% 3) 10% 1) 21%

3P. The cost price and selling price of a table are in the ratio 4 : 7. What is the percentage of profit?

a8 SN E7YHKE, 0l Fden 4:7 3@%@8 05). ORI rPTSEiN Hos?

1) 40% 2) 60% 3) 65% 4) 75%
D1 2)2 D3 H4 52 64 D4 Y2 92  10)2

11) 4 12)3 134 143 153 16)1 173 181 194 20)4
21) 4 2)2 23 203 252 26)22N1 28)2 294 )2
31) 2 D4 P2 M2 H)4




(RATIO AND

PROPORT I0ON]

INTRODUCT ION

- IT the incomes of A and B are Rs.12,000
and Rs.17,000 respectively, we say that

12
the income of A = Eofme income of B.

= The number of times a quantity contains
other quantity of the similar kind is called
the RATIO of the two quantities.

- Theratio “@” to “b” iswittenasa: b (or)
ab.

- Inthe ratio 6 : 7, 6 is the first term called
“ANTECEDENT” (Jrtistdeo) and 7 is the
second term called “CONSEQUENT (%
W) -

Note (1) : A ratio does not change even by
multiplying or dividing its terms with the
same constant.

4:7issaeasl?2: 21
6:14issaeas3:7

Note () - Iftworaticsa - band c - d are equal,
then the numbers a,b,c and d are said to
be in “PROPORTION”

Bot dP&eo AB HBasw C:D e
D555, A,B,C,D en eoarssns®
DD & IYHN0.

4 - 5=24 : 30. The proportion may be
writtenas4:5:: 24 - 0@ istob5as 4 is
©30)

Here 4 and 30 are called “EXTREMES”
(@oéé H0en) and 5 and 24 are called
“MEANS” (08 85¢550en) -

I'T four numbers are in proportion, the
product of the extreme numbers is equal to
the product of the mean numbers.

)

EXAMPLES

1) Find the fourth proportion to the numbers
16,40 and 8?

16,40 0005 808 48 wdarssn Ho?

2) What is the mean proportion between 8
and 507

8 0Bk 5005 LregnE 0RIPSER0S?

3 IfA:B=1:3,B:C=6:5, wat is tre value
of A:B:C?

D IFA:B=2:3,B:C=9:4,C:D=8:1, wat
is the value of A = D?

5) Rs.1530 is divided into two parts in the
ration 4 - 5. What is the value of the second
part?

6) A Sum of money is divided between Ravi
and Ramesh in the ratio 4 : 13. If the difference

of their shares is Rs.270. What is the total
amount?

508 ey 8 $Hoc Bibned 4:13 3Has®
Hodre, 0 drerest B . 270 HHO.
HoES0 S50y oB?

7) The sum of two whole numbers is 838. Which
of the following can be the ratio of the two
numbers?

2 Ky’géospé@ ok 88. wawd & (BoBaede®
B T QY B rHeod HsEdn Eotd?

1 13:4 2)19:3 3 17:3 H2:5

8) Two vessels of equal capacity are 3/4 and
2/5 full of wine. They are then filled up with
water and the contents are poured in a third
vessel . What willl be the ratio of the wine and
water in the final mixture?

Bo& $5eS FeBes, 3/4 508050 2/5 HHok
bvlefoh) @0&5’556 otn. DADS grissnd H&st
D0, & MFHBHOD 35 oSS LOVSE, e
5 o (ES050e® @@273’556, 58 QY8 dod?

~\
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9) Two numbers are in the ratio 2 - 7. If each
numbers is Increased by 10, the ratio changes
to 3 : 8. What are the two numbers?

3o éogpgen 2:7 200“%)@;&‘38 Bodd. @é’éw&)é 10
SHPS BOBIS® @ AHB 3:8 wiH. wowd @
éos%éc‘b?

10) Two nurbers are intheratio3 - 2. IF40 is
subtracted fram each of them, the ratio changes
to 5 : 3. What is the smaller of the to?

8o Doggen 3:2 3@‘5’%&‘38 o). (DB ool
40 é@oé);éﬁs, ©d 5:3 1D, wand O Hoayg
Qend Do HorRAB?

11) In amixture of 45 litres, milk and water are
intheratio4 : 1. 1T 9 litres of water is added,
what will be the ratio of milk and water iIn the
final mixture?

45 DS o|Eo50S® Fren b % 4:1

DBSE BoH. ao8sr 9 Doy V6 502 ©
DB Do ©rH0?

12) Of the three numbers a, b,c the first two
nurbers a and b are in the ratio 3 : 2, the last
twonumbersbandcareintheratio7 - 1. If
the sum of these numbers 111 what is C?

a,b e 3:2 3BS° %0 b, C ev 7:1 A&s®

o). a,b,C © IJ0SIn 111. ®ond C Dend

Q0&?

13) If Rs. 930 is diivided into three parts in the
111

ratIOE-g-g what is the third part?

N
Wl
Ul -

. 93050 Lot gerivenr RSN

HoPse, 3N Teer Dos?

14) A purse contains one rupee, Tive rupee and
ten rupees notes in the ratio 4:2:1. 1T the total
amount in the purse is Rs. 480, how many five
rupee notes are there iIn the purse?

VR

2.8 HENS® .1, 8.5 KBk .10 Sey 4:2:1
AES® BoH. & Iwddn Jend B>.480.
wond &. 5 ey I BoH?

15) A sum of Rs. 35 is madeup of 80 coins,
partly of 50 paise and partly of 25 paise. How
many 50 paise coins are there?

80 TBX0e Fodsw end &. 35. FESE
50.e0 O DAOID 25D.© TeEdd0ed
o). ®ond 50 .o TPEnen ?

16) Rs. 3000 is divided among 4 women, 5 boys
and 6 girls, such that the share of a women, a
boy and a girl are in the ratio 9:8:4. What is
the share of girl?

SenrHdd @@, 50 ePendd B 6D
OB K. 3000 HolalddH. 0 éééﬁéé
Teren 9:8:4 AQYBE® HHD. wad a8 OED
D) Eegy doB?

17) Three numbers are in the ratio 3:4:5 such
that the sum of their squares is 200. What is
the middle number?

07088 Dogygen 3:4:5 EOK&)@;@S Bod. & 2660526:»0
S 200. FBS 308 Kosg d6?

18) Rs. 910 is divided among A, B and C so
that thrice the share of A is equal to twice the
of B which is equal to four times that of C.
What is the share of A?

&. 91050 A,B,C 9% H0D3HE A sbf’zﬁ:aéé) 3
Béy, B e Both Béy S50805m C Py
4 Bex Dendden DXL, @ond A TP Jod?
19) Divide Rs. 850 among A, B and C so that A
receives 5/12 as much as B and C together

receive and B recieves 3/14 as much as A and
C together receive. What is the share of C?

%. 850 A,B,C o% Hosmr A ae¢w, B,C ©
SwBS50S® 5/125 Sod. B aeér A,C o

L 208508 3/1485 $osh. @and C aoér dos?

D



[ EXERCISE )

Find the fourth proportional to the numbers 3,4,12?

3,4 08050 1205 4% 9oaPStn Jo&?

D14 220 3) 16 H15
What is the mean proportional between 7 and 28?

7 $50050 2808 JrgenE TSR D Jo&?

D23 224 314 420
IT AzB=1:5, B:C=10:3, what is the value of A:B:C?
D 1:2:3 2)4:35 3) 2:10:3 4 7:10:4

IT A:B=3:2, B:C4:1, C:D=2:3. What is the value of A:D?

D51 2)3:2 343 DHaa

What is the third proportional to 6,12?

D12 2)18 D20 H2

Rs. 1890 is divided into two parts in the ratio 4:5. What is the value of the second part?
1) Rs. 1020 2) Rs. 1050 3) Rs. 840 4) Rs. 830

A sum of money is divided between David and Raju in the ratio 3:11. IT the difference of their
shares is Rs. 240. What is the total amount?

D Rs. 420 2)Rs. 280 3) Rs. 360 4) Rs.500

The sum of two whole numbers is 66. Which of the following can be the ratio of the two
numbers?

1D 13:4 2) 193 3) 173 D 12:7

Two vessels of equal capacity are 3/4 and 2/3 full of wine. They are then filled up with water
and the contents are poured in a third vessel . What will be the ratio of wine and water in the
final mixture?

Both VXS FFeS® 3/4 LHBH0 2/3% Soen wepBS Sol. @ FBo B Jod, ©
DES050OB 35 JBS® FHSS ) o (ESosnes® @0@{5’56, 5% & ?OK@%@‘S Dotdn?
Di1r-11 2177 3 16:11 4 179

. Two nurbers are in the ratio 3:7. IT each nunbers is increased by 15, the ratio changes to 3:5.
What are the two numbers?

1 15,30 2) 30,105 3) 15,35 4) 40,105

- Two numbers are in the ratio 3:2. IT 20 is subtracted from each of them, the ratio changes to
5:3. What is the smaller number of the two?

1) 0 2) 80 3) 120 4) 160
o\
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17.

N a mixaire 1tres, m rare in 1041, s
will be the ratio of milk and water in the final mixture?

60 Derl M(EoB0S® Fren, A 4:1 AYBS® o). HI8 12 Oy A BO1IS®, & Y dod
@ D0?

D12 2)2:3 321 932

Of the three numbers a,b and c the first two nunbers a and b are in the ratio 3:2, the last two
numbers b and c are in the ratio 7:1, if the sum of these numbers is 740, what is c?

D20 225 DD 4 40

111
ITRs. 940 is divided into three parts inﬂ\eratio§IZI§,Wratamumstoﬂ“emirdpart?
1 Rs. 180 2)Rs. 30 3) Rs. 240 4 Rs. 220

A bag contains one rupee, Five rupees and ten rupee notes in the ratio 3:2:1. If the total amount
in the bag iIs Rs. 460, how many five rupee notes are there in the bag?

D 2)40 3) 60 D5

a sum of Rs. 36 is madeup of 80 coins, partly of 50 paise and partly of 25 paise. How many 50
paise coins are there?

D 12 2) % 3 42 Hea

In an examination there are 40 questions. A student gets 3 marks for each correct answer and
1 mark can be deducted for each wrong answer. Mohan attempted all questions and got 88
marks. How many questions did he attempt correctly?

a8 éége?s 40 D0 Box). JBRS DNPGPIB0IL 3 Sednen I8y, SIS e‘ééo)owzéﬁs
2.8 &8 BR0THK. IS @) (DD wTdSIr ©BtH 88 Srdnen FPOBTCD. &L
A DB DBAHD DHPGPID 00NT°ED?

D3O 236 ) JC H3

Rs. 4000 is divided among 4 women, 5 boys and 6 girls, such that the share of a women, a boy
and a girl are in the ratio 9:8:4. What is the share of the girl?

1D Rs. 160 2)Rs. 150 3) Rs. 210 4) Rs. 400

Three nurbers are in the ratio 3:4:5 such that the sum of their squares is 450. What is the first
number?

St Hoggen 3:4:5 200“%)@;&‘38 Bod). O zﬁgzﬁw@ oo 450. oS Il dogy DoB?
D8 24 36 59

Find the number which when subtracted from the terms of the ratio 9:5 makes it equal to 3:1?
9:5 @ AYPYS® (H& Hw o D Joagd B1IS® & Y 3:1 wiHH?

D4 210 33 D6

VR
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- Divide Rs. 2330 into three parts in such a way that one-fourth of the first part, one-fifth of the
second part and one-eighth of the third part are equal . What is the second part?

B. 238050 Lot grRiHnenre HoDSHD, RSB QS m%:zé S0, BoKksd S’ 55 $o,
508050 Horsd TSt 85 Hokh Denden DETH0. @and 285 gRrRdoS?

1) Rs. 580 2)Rs. 650 3) Rs. 700 4D Rs. 375

. Rs. 2080 is divided anong A, B and C so that thrice A’s share is equal to twice B”s share which
is equal to four times C’s share. What is the share of A?

%.2080 A,B,C 0% H035HE A 0erE 38¢n, B a0¢E Sotdh Bép 00aiw C erdd Trentd
Béy Dendden JeS0. ®ond A PP os?

1) Rs. 680 2)Rs. 640 3) Rs. 920 4) Rs. 860

. Divide Rs. 4800 among A, B and C so that A receives 5/11 as much as B and C together
receive. B receive 7/9 as much as A and C together receive. \What is the share of C?

8. 480050 A,B,C o5 Hodsre, A a0¢r B,C o 08w et 5/115 $osh. B e A,C ©
S0E50 PerS® 7/95 Hod Soih. o C aoer dod?

1) Rs. 1050 2) Rs. 1800 3) Rs. 1600 4) Rs. 1200
. What is the duplicate ratio of 3:7?

DJ3:7 2) 9:49 3)9:40 49:11
. WWhat is the triplicate ratio of 8:5?

1) 512:121 2)511:127 3) 512:125 4) 512:111

KEY

D3 23 33 H4 52 62 D1 82 92 103
11)2 12)3 13)4 143 152 16)417)3 18)1 194 20)3
2)3 2)2 234 242 25)3




(PARTNERSHIP)

INTRODUCTION

IT two or more persons put their money
together in order to carry on a certain
business, then the deal is known as
“PARTNERSHIP”

1 IT the capitals are invested for the same
period, then the partnership is called
“sinple partnership”’. In this case profit
must be divided in the ratio of their
investments.

2 IT the capitals are invested for different
lengths of time, then the partnership is
called “compound partnership™. In this
case profit nust be divided in the ratio
of the products of investment and the
time period.

EXAMPLES

1) A, Band C invested Rs. 64,000, Rs. 72,000
and Rs. 92,000 respectively to carry on a
business. What is the share of B in the annual
profit of Rs. 11,400?

2) In a business P contributes Rs. 45,000 for 5
months Q contributes Rs. 60,000 for 5 months
and R contributes Rs. 80,000 for 6 months.
What is the share of Q in the total profit of Rs.
1,34,000?

3) A, Band C rented a car for Rs. 2, 400 and
they used it for 9, 8 and 13 hours respectively.
What is the rent paid by B?

4) Anil and Vishai invested Rs. 20,000 and Rs.
25,000 respectively. After 3 months Anil
invested Rs. 5,000 more. Find the share of Anil
in the annual profit of Rs. 78,0007

5) A and B started a business by investing
Rs. 80,000 and Rs. 1,20,000- Awas the working
partner and had to get 30% of the total profit
for his work and the rest is to be divided in
the ratio of their cepitals. IT the total profit is
Rs. 50,000, what is the share of B?

L

{ EXERCISE )

J

1 A, BandC invested Rs. 32,000, Rs. 36,000 and Rs. 46,000 in a business. What is the share of

B in the annual profit of Rs. 11,4007

a8 a‘g@%zﬁwé‘s A,B,C o egathen &. 32,000, . 36,000 £o0cdn B. 46,000. wond 0F

egfSm B, 11,40006° B soér dods?
1) Rs. 2600 2) Rs. 3600

3) Rs. 32,000 4) Rs. 48,000

2 A, Band C invested Rs. 40,000, rs. 64,000 and Rs. 72,000 in a business. IT A receives Rs. 24,000
less than C as his share in the annual profit, what is the share of B?

2.8 Tgrssws® A, B, C o geden &. 40,000, &. 64,000 580k &. 72,000.5°08 ergsns®
A a¢w, C arér 837 8.24,000 éé:&es. @ond B orer do?

1) Rs. 30,000 2) Rs. 36,000

3) Rs. 32,000 4) Rs. 48,000

3 In ahbusiness P contributes Rs. 30,000 for 5 months Q contributes Rs. 25,000 for 5 months.
What is the share of Q in the total profit of Rs. 2,54,000?

1) Rs. 36,000 2) Rs. 40,000

3) Rs. 45,000 4) Rs. 50,000

4 A, Band C rented a bus for Rs. 3,600 and they used it for 5,6 and 7 hours respectively. What is

the rent paid by B?

1) Rs. 2400 2) Rs. 1000

3) Rs. 1200 4) Rs. 900

@D




Vijay and Ajay invested Rs. 25,000 and Rs. 30,000 respectively. After 3 months Vijay invested
Rs. 5,000 more. Find the share of vijay in the annual profit of Rs. 1,41,000?

1) Rs. 50,000 2) Rs. 69,000 3) Rs. 48,000 4 Rs. 54,000

A,B and C invested Rs. 20,000, Rs. 15,000 and Rs. 15,000 respectively. A withdraw Rs. 5,000
of his capital after 4 months and after two more months, B added Rs. 5,000 to his investment.

C withdraw his capital at the 8 month. What is the shre of B in the total annual profit of Rs.
1,59,000?

A,B,C o ?oéaaa)c‘f;)@ B. 20,000, &. 15,000 006050 &. 15,000. 4 Joo SSaed A &3
coeaaaa& Sood 63 5,000 e‘éf\oazﬁ) oo 2 Jvo SoxE B &5 wéaaaa&% %. 5,000 892%%.
C &5 epadd 8 Jvo Bomg EoRoB. Bndsn eogdn . 1,59,000685 B arer Jos?

1) Rs. 48,000 2) Rs. 50,000 3) Rs. 69, 000 4) Rs. 63,000

A and B invested Rs. 70,000 and Rs. 90,000. A withdreaw his capital after 8 months. How long
B’s capital wes used, if the profits are divided in the ratio 14 - 9?

1) months 2) 4 months 3) 6 months 4) 8 months

In a business the Investment of A is one-third of the total investment of B and C.B invested
one-sixth of the total investment of A and C. What is the share of C in the profit of Rs. 56,0007

a8 ag@%eﬁmﬁs A epad, B,C o 8w oaema&ess 1/38 So&. B enad A,C o Sndsn
egads® 1/65 Sob. ~wand S0 @2;52633 5. 56,0000 C amér dos?

1) Rs. 36,000 2) Rs. 34,000 3) Rs. 42,000 4) Rs. 52,000

A and B started a business by investing Rs. 60,000 and Rs. 1,80,000. A is the working partner
and has 1o get 20% of the total profit for hiswork and the rest is to be total profit for his work
and the rest is 1o be diveded in the ratio fo their capitals. IT the total profit isRs. 40,000, what
is the share of B?

1) Rs. 21,000 2) Rs. 24,000 3) Rs. 80,000 4) Rs. 92,000

. A, Band C invested Rs. 12,000, Rs. 24,000 and Rs. 36,000 in a Business. A withdraw his
capital after 1 year and after 6 more months B withdraw his capital . 1T the total profit isRs.
3,90,000 for 3 years, what is the share of B?

1) Rs. 80,000 2) Rs. 90,000 3) Rs. 65,000 4 Rs. 72,000

- Aand B enter a partnership with capital in the ratio 4 : 7. Awithdraw his capital at the end of
8 months. IT they receive the profit in the ratio 8 : 21, find how long B”s capital was used?
1) 6 months 2) 8 months 3 1year 4) 18 months

_ A started a business by investing Rs. 8000 . After sometime B joined him with a capital of Rs.
6000. They shared the annual profit in the ratio 2 : 1. How long was B there in the business?
&. 8,000 exads” A TRrELnd (rEodoBh. Fodsrokn EHard @88 &. 6,000 Digass”
B 892%%. a°6a w@é PN 2:1 é‘\)c%)é’éé's H0HEB. ®ond B coeaaaa& Q0 zPORD 25)26&&‘?
1) 8 months 2) 12 months 3) 4 months 4) 9 months

. The investments of A and B are in the ratio 3 : 2 “A” withdraws his capital in 6 months, then
how long “B”s capital is used, if they divide the profit equal ly?

1) 8 months 2) 9 months —__3) 1/2 months 4) 11 months
2



14_1In abusiness “A” Invested 3/7 of what B and C together invested. What is the share of “A” In the
profit of Rs. 49,0007
1) R. 14600 2) Rs. 11800 3) Rs. 21000 4) Rs. 14700

15. The investments of A,Band care inthe ratio 7 = 8 - 6. 1T B and C together received Rs. 24000 as
their share in the profit, what is “A’s share in the profit?
1) Rs. 12000 2) Rs. 9000 3) Rs. 8000 4) Rs. 10,000

KEY

D2 24 34  5H3 52 64 72 82

92 102 113 12)1 13)2 144 151




(PROBLEMS

ON  AGES)

1)The ratio of the ages of Mr. David and his
son IS 6 - 1 After 5years the ratiowill be 7 - 2.
What is the prsent age of Mr. David?

CAE, 0B HIrHe Hohden 6:1 AYHYS®
DYD. 5 Done SoxE & Y 7:2 9H.
a& (%08 HAHoS?

2) The ratioof ages of Aand B is 5 - 3 and the
sum of their ages is 32 years. What will be the
ratio of their ages after 16 years?

A,B o $chen 5:3 Qs8S° Lo, a0 Schive
S0850 32 Donen. ©ond 16 oo SoxE a0
H0e APE V0& HotdKo?

3) The ages of a father and his daughter are in
the ratio4 : 1. IT5 years ago thelr ages were in
the ratio 7 : 1. What is the present age of the
father?

Bo&, H&r8e Hoben 4:1 AFPES® HHD. 5
Soie (880 & AP 7:1 HoREL. ®ond So&
(5508 S oeE?

4) Five years age Aruna’s age was seven times
the age of her daughter at that time and after
5 years, her age will be thrice the age of her
daughter. How old is Aruna now ?

5 Jone (880, o S & HoLHr0
H0HE T3eR HoREL. 5 Yone STXE e
N0 Boxe8 S 38R Hothn. eddes
(5508 S oe?

5) The sum of the ages of Raghu and Rajesh
IS 56 years. 6 years ago, the ratio of that ages
was 7 - 4. How old is Mr. Rajesh now?

B, TER® HoHoe SogXw  56J01e0. 6
Sone (880 70 Hohve AP 7:4 HoRER.
o0 ToHER ($3%08 HaHdos?

6) A Is 4 times as old as B. 3 years hence the
sum of their ages will be 41 years. What is the
age of A?

A 5050, B S000358 Trenihdey 0. 3
Qo11e SoRE 570 HAHe F0&50 41 Donen.
oNJ (S A S Do&?

7) Mr. Rao has two sons. His age is 3 times
the sum of the ages of his sons. After 4 years
his age will be twice the sum of the ages of
his sons. What is the presentage of Mr. Rao?

O°) 0O 98 aegéia B0 0850
DAoBoXE0 HaedoDeY B, JPead
0058500 STXE @8V HODHD, & HITH
N0 F0E505% Totdh Ben HotHd. T
(%08 S oeE?

8) In 8 years, the age of khan will be 4 times
what he was 13 years ago. What is his present
age ?

8 Jole o gro Hahd, 13 done (E&o
28 FAHDEB TeenIHBED Hotd. S (O
SH0os?

9) 3 years ago pavan was twice as old as
Kalyan. If the difference of their ages iS4 years,
how old is Kalyan now?

3done (880, NI S és;vegs% ENOuSESUENISY
B0y HoBAE. &0 Hahe Hgy Bee 4
Ddonen PHHB. Sk (S ScHod?

10) Manoj is as much younger to Vishal as he
is older to Ramesh. IT the sum of the ages of
Vishal and Ramesh is 54 year, how old is
Manoj now?

50358 Hafobo Daees SAoBoET) Qo
BENDHNE®, BHR FcHBT™) w08 ENDHHB.
DS 5B SR Ho%dow Jnd Sn
5401e0. @ownd HSPE (H:0E SahDos?
11) Kiran is three years elder than Mani. If
Kiran is “m” years old., how old was Mani two
years ago?

88, Soed g% 3d01en ?oega%ﬁ;. 886 S0
BB “m” DoHE)B0en. o0 Soed Sl
BotdH Joie (880 o0& Hor&H?

12)A woman was “n” years old “x” years ago.
Her age “m” years from now is expressed as
2.8 ) H05 “x” one B0 “n” Loien HorEs.
3D DA “Mm” Do oRE o0& Hotd?
13)Fifteen years hence a man will be four times
as old as he was fifteen year ago. What was
his age 4 years ago?

15 Sone o= e.8 é&% H0Hn, 1500ne (ESX0
8 HOHDIE TPenrHBEYN HotHd. oS
& HoHD Teenid Do (880 Do HoREH?

@




( EXERCISE ]

The ratio of the ages of Mr. Kiran and his son i1s 5 : 1. After 8 years the ratiowill be 6 = 2. What
is the present age of Mr. Kiran?

8565, 08 HIrHo ScHden 51 QS B0, 8loie Soxd & AYPY 6:2 ©rhd. @ond
856 (50 H3H0eE?

1D 28 years 2) 36 years 3) 40 years 4) 45 years

The ratio of the ages of Amar and rahim is 3 = 1 and the sum of their ages is 32 years. What will
be the ratio of thelr ages after 10 years?

©58, 88rSHeo HcHden 3:1 IS HHD. 6 Schive Ingsn 32 Doler. @ansS 10 Hone
o 770 D000 AYPB D0& HotHo?

Di14:5 2D16:7 D17:-9 H 19:7

The ages of a father and his son are in the ratio 3 = 1. IT 6 years ago thelr ages were in the ratio
7 : 1. What is the age of the father?

Sol&, BHIrHe Sohdoen (DS 3:1 Q@gé‘s DD, 6 Jone o 0 Schden 7:1
S@@é’s DoRED. Sol& (DS HoHhos?

1D 27 years 2) 48 years 3) 52 years 4) 32 years

Five years ago Lalita’s age was seven times the age of her son at that timeand after 5 years,
her age will be thrice the age of her son. How old is Lalita now?

5 Jone 80, 008 HcH e HXTT HoHHB 7 Bey HoRER. 5 Dol STRE e HaH
B33°8 HOHE 38R HotH. oS (HpBn ©OE HaHvoE?

D 35 years 2) 40 years 3) 45 years 4) 48 years

The sum of the ages of Mehar and Ramu is 48 years. 4 years ago, the ratio of their ages was
5 = 3. How old is Mr. Ramu now?

58, TeEne Sahve Iwddn 48Jonen DYB. 70 Hadhdoen 4done (885w, 5:3 35@@@6
DoRED. oS Tew (DS HaHRoE?

D 2 years 2) 24 years 3) 28 years 4) 19 years

Mr. Kishore is 5 times as old as Bhaskar. 4 years hence the sum of their ages will be 44 years.
What is the age of Kishore?

858 Hosn, gl HoHoSE 5By DB, 4 Yol SoxE TOHDe I 44 Sole.
8588 (508 SaHoE?

D 20 years 2) 23 years 3) 30 years 4) 26 years

Mr. Pavan has two daughters, His age is 3 times the sum of the ages o his daughters. After 4 years
his age will be twice the sum of the ages of his daughters. What is the present age of Mr. Pavan?
1D 42 years 2) 36 years 3) 38 years 4) 24 years

In 10 years, the age of Mohan will be 3 times that of his age 6 years ago. What is his present age?
10 Done Soxs FPeeR HaD, 6 Do BSH5n S HoHDKIL 38w Hothd. @S (DS
SH0os?

D 10 years 2) 14 years 3 12 years 4) 20 years

6 years ago David wes thrice as old as Kiran. IT the difference of thelr ages is 2 years, howv old
is Kiran now?

6 Kone (B30, GIE HoHd 886 Hohwss 3 Béx HoREB. 70 Hoe SHoek B 2 Lolien.
oS 886 (HnE Sahos?

N\

@



4.

1) 8 years 2) 6 years 3) 7 years 4) 5 years

Phani is as much younger to Vithal as is older to Ramesh. IT the sun of the ages of Vithat and
Ramesh is 56 years, how old is Phani now?

PB S0H, DBS HADET) Do& éé:&é)zéclﬁa DR HAH0ETY) @od aéa&@é&&. QBS oBGW
EhHe Sohdoe S0E30 5650110 HHO. @and HB HaHVoE?

1D 26 years 2) 24 years 3) 28 years 4) 30 years

1
Neeraja got married 4 years ago. Today her age is 15 times her age at the time of marriage.
Her son’s age is 1/12 of her age. What is the age of Neeraja’s son.

1
D% 4 Bolle (BE50 DPTRH0. e (Hnd 50K, arsesmn 2BASHE HAHSH 158@,,

DY, B8P BB HAHL D $505%08® 1/125 Hos DY, oS BB HADoSE?
D 1 years 2) 2 years 3) 3 years 4 4 years

The ages of A and B are in the ratio 3 : 1. The product of their ages is 27. What will the ratio of
their ages after 3 years?

A,B o Scden 3:1 8@@6’5 B, a8 Scdoe @acgzﬁn 27 Jonen. @ond 3 oo SoxE a0
H0e APE Vo8 Hoto.

D1:2 22:3 32:5 $H3:5

The sum of the ages of a father and his son is 4 times the age of the son. IT the average age fo
the father and the son is 28 years, what is the age of the son?

So(&, BB HoHre Inddn HHHArH SavoSE 43¢n VY. TOBRO Hadhdoe Do
Dend 28J011en PHYHH. @ond HXFHA (NS S DoE?

1D 16 years 2) 14 years 3 12 years 4) 18 years

The sum of the present ages of Prakash and Sudhir is 7 times the difference of their ages.
After 5 years, the sum of their ages will be 9 times the difference of their ages. The present age
of the elder of the two is?

(K8, hEe Sohidoe Fogdw, T8 HHow Boed 78¢R HHB. bdone ST 8 HSabhdoe
SwEso, 770 e BeE 9 By Ho. TS LTI HaHoE?

D 10 years 2) 20 years 3) 35 years 4) 18 years

Suresh’s father was 5 times as old as him 5 years ago. After 5 years he will be thrice as old as
Suresh. How old is Suresh today?

5 Boie (880, 05 Sol@ Ha WOR DI 5 By HoRA. ®onih $oHE)BLne Soxd
088 HOHK, WOR SeHKBKH SooeeS08eR HotH. L8R (%08 HaHoE?

D 35 years 2) 10 years 3) 20 years 4) 15 years

KEY

D3 23 3H1 H2 54 63 N2 82 93103
11)3 12)2 13)2 142 15)4

N\
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(AVERAGE]

INTRODUCTION
An average is the sum of n different 1tems
divided by n.

Average = _Total of Itens

No. of Items

EXAMPLES

1) The average mark obtained by 40 boys is
65 and the average mark of 20 girls is 95. What
is the average mark of all the students in the
class?

40 o0k erend Jrien Srdnen 65. 20 ood
erd8e JNen Srdpen 95. BoRd dNew
0°8)B08?

2)The average score of a player in 9 matches
is 12, IT in the 10th match his soore is 24, what
is his new average score?

2.8 werrd8 9 weos® St A 12. 0B
105 eseos® 24 @‘5&63 B5SE, 088 (5088 Kesed
SH0os?

3) The average mark of 30 students in a class
is increased by 1.2, when a student of mark

48 is replaced by a new student. What is the
mark obtained by the new student?

2.8 S5K8E’, 48 SoeBnen HINPS Joe 6 2thenre
3% 8)@56 St Do, & SBKS c"\) 30 ook
&)atgti)e) roﬁeaa Sednen 1.2 ORI, & Ere
S &)a‘g@% AR SeEnen HYHIN?

4) The average of four numbers is 13. If each
number is increased by 5, what iIs the new
average?

enrd Yogge Jrfen Densd 13. TS (58
éoagé) 5 P OIS (308 difen Qo
Do ?

5) 4 years ago the average age of a family of a
members was 19 years. A new boy having
been born, the present average age of the
Tamily remains the same today. what is the
present age of the boy?

45010 (B850, a8 HE005nS ) Senrdhdd
ghge Brfen a5 19 Sonen HoREH. 88
OBHB0MT 2.8 ePentd By Hod (Hssm a0
De0 DD 08 Eeth. o e erend (S
K050 Qo&?

( \
| EXERCISE

1 The average mark obtained by 30 girls is 55 and the average mark of 20 boys is 40. what is the

average mark of all the students in the class?

30 ol erdfe Jrién Sednen 55. 20 HHod erend Jien Irdnen 40. TPBoB0 Dirién
0°8)B08?

D33 242 349 4) 63

The average score of a player in 10 matches is 12. If in the 11th match his score is 34. what iIs
his new average?

D1 212 313 D14

The average of four consecutive even nurbers is 37. What is the largest number of the four?
Tee0ih SO DBdogge Srien Densd 37. FBS 'zbcg Qdogy d?

DR 2) 40 3) 48 HHA

The average rainfall for Monday, Tuesday and Wednesday is 4.3 cn. The average rainfall for

Friday, Saturday and Sunday is 3.9 an. If the average rainfall for the tatal week is 3.7 cm, what
is the rainfall recorded on Thursdeay?

1) 2.4am 2)1.3am 3) 2.8am 4)3.9am

N\
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the average of 11 numbers is 40. The average of first 5 nunbers is 36 and the average of alst 5
numbers is 43. What is the 6 th number?

11 Sogye drien Densd 40. TS InB 5 & Dogge Den 36 $HBAsH DHO 5 Dogge Hifén 43.
©ond TBS 65 & Dogyg Densd doS?

D33 242 362 D72

The average of 13 observations is 23. The average of first 7 is 27 and that of last 7 is 24. What
is the value of the seventh observation?

D2 2)58 362 D72

The average age of Mr. and Mrs. Prakash and their 4 chilldren is 20 years. IT his age is excluded,
the average age of remaining members in the family would be 17 years. How old is Mr. Prakash?
1D 30 years 2) 35 years 3) 26 years 4) 29 years

The average mark of 30 students in a class is increased by 1.2, when a student of mark 42 is
replaced by a new student. The mark obtained by the new student is

42 263196327@ ES:‘DQES 8)@58 2en™ S5 8)@56 Eéiﬁat)e) S0d a8 $858S° 30 H0d 8)(?563@
PSTa o) 26306;27 1.2 036526&) ©00S EErr SIS 8)@56% A 26706327@ SNI.

D& 272 378 1) 66
The average of four numbers is 19. IT each number is increased by 3, what is the new average?
D22 224 326 H28

. the average age of 17 players is 14 years. IT the age of their coach is included, the average of
the group becomes 15 years. How old is the coach?

a8 aéoaeSS 175008 $ehge Drien HH 14 Donen. 700 885 S0 BO2ISE, :B08s KHisew
%o 15 Bonen HotHd. wond 88 ScHhos?

D 41 years 2) 38 years 3) 31 years 4) 32 years
- 5 years ago the average age of a family of 3 members was 17 years. A new boy was born
during this period. Even then the average age of the family remains unchanged. What is the
present age of the boy?
5 done 885w, al Henoaod Eﬁwﬁ;éo Qghge Jrien S 17 Jonen HoaEH. 08
OEHEDMT 28 ePenth BHeded @Knéééaa & é)(éaaoaa B DA @8 HXB. wond @ arend
($3%08 P50 Qos?
D 1year 2) 2 years 3) 3 years 4) None
. The average of 8 observations is 26. IT the average for the Tirst 5 observations is 18.2. What is
the average of last 3 observations?
D3R 230 336 D17
. OF the three numbers, the first number is one-half of the second, the second number is one-
third of the third nurber. The average of three nurbers is 16. What is the sum of the first and
the second number?
IVOTAV IS Qdogy o, Fnsd S Qdogy Bo&S eQSE HiKdn Bodn. Bodkd B Qogy S St LoriS
S0&H éocﬁa & Hoeddd 8 Qogge Ji5en 16 oSS, Fnsd L0850 Bokd K Qogyge F&DoE?
1) 48 253 D24 4 16

o\
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14. The average of 18 numbers is 14. While calculating the average, one number is taken as 73
instead of 37. What is the correct average?

18 Yogge Jrien Dendd 14w B%&o?ja)&:é&. 58 a8 Qoggo 37 extheore 73re &80
238NJ8. ®ond DVOGHS Bt Dend dos?

D3IFB 212 3) 18 419
15. What is the average of all the odd numbers between 40 and 90?

40 $0805%» 90 263652326326& éﬁ?oéoaaege) D380 Dend oes?

1 130 2P0 3)66.5 4 65

KEY

D3 D4 32 H2 54 62 D2 83 91104

11)2 12)2 134 142 154




[PROBLEMS

ON NUMBERS]

INTRODUCTION

Rulles of Davisibility

Anunber isdivisibleby. . _.

= 2if thedigit in the units place Is even
number or zero.

= 31T the sun of the digits of the nurber
isdivisible by 3.

e 41T the set of last stwo digits is
divisible by 4.

= S5ifthedigit in the units place Is erther
zero or five.

= 6 If the nunber is divisible by both 2
and 3.

= 8if the set of the last three digits is
divisible by 8.

= 9 if the sunof digits is divisible by 9.

= 11-A number ABCDEF is divisible by
11, 1f the difference between

(AtCHE+_ . L) and (BtDH+...) IS zero or
amultiple of 11.

Face value of a digit

The value of a digit that varies with its
position is known as “Place value” or
“Local value™.

Ex : The local value of 7 in 675 is 7x10=70
because 1t is In ten’s place.

EXAMPLES

1) The sum of three consecutive even numbers
is 90. What will be the middle number?

3 HBD VoDogge & 90. &S Bokd
Ddogyg &?

2) IT one-fourth of three—fifth of a nurber is
27, what is 40 percent of that number?

—

V/

2.8 éoaaage?s, 1/4% $0&8° 3/5% Hodh Jend
27. ®ond & éospgﬁs 40% Dend Noes?

3) A number when divided by 121 gives a
remainder 60. 1T the same number is divided
by 11, what will be the remainder?

a8 éospegzﬁ) 1213 grhodme, 60 IKS0me
MiHends. oo éogpszéa 113 grhose 3H5m
Q08 HoLodn?

4) Sankar gets3 marks for each correctly
answered question and loses 2 marks for each
wrongly answered question. He attempts 30
questions and gets 40 marks. The number of

5) Adding 32 to a number is equal to adding
40% of that number to it. What is 150% of that
number?

a8 éogpegéa 32 Bendrre, & Dok 40% end
Ben)erd D050, eeéogpag 150% Qend
0 ?

6) Ramu was asked to divide a number by 4,
but wrongly he multiplied the same by 4. His
answer is 60 more than the correct answer.
What is the correct answer?

oo a8 éoapagzéa 43 grA0SHe% e 43
HBoTH. & Dend ¥BS DendsT 60 ENS
JINDO. @ond KOG Jend dod?

7) 849 tables are 1o be arranged in such a way
that the number of chairs in each colomn
should be equal to the number of columns.
How many tables will be excluded to make this
arrangement possible?

8) What is the sum of the numbers in the
following series?

26,1014....._... 0
9) How many numbers upto 216 are divisible
by 14?
JI0BA 216 60895063’5 143 gPR0SHEd A
Do ?

o2/



( EXERCISE - 1 ]

1
33 5% of 20% of number is 15. What is the number?

1) 215 2) 235 3 225 4) 280
The sum of three consecutive even numbers is 78. What is the middle number?
S0t S HOogge I 78. 58S Bokd Qogy d6?

D24 ) Y/ i) P 9H 28
1T one-sixth of three seventh of a number is 10, what is 40% of that number?
D 2 ) X< 5} D56

2
When 14 1sadded to a number, it becomes 15 times the number. What is the number?

2
2.8 KoggHd 14 Sendre, Tl Dewd 15 By @, & dogg &?

D24 2)18 ic) Pl D26

What would come in the place of (*) mark in the following equation?

32*50 + 225=146

D2 24 36 58

Which of the following numbers should be added to 1969 to make 1t exactly divisible by 9?
D8 27 D1 DA

IT one-third of one fourth of a nurber is 15, then three-fitth of the nunber is

1) 105 2) 108 3) 102 4) 118

A number when divided by 121 gives a remainder of 63. IT the same number is divided by 11,
the remainder will be

D4 27 36 H8

Prakash gets 3 marks for each correctly answered question and loses 2 marks for each wrongly

answered question. He attempts 30 questions and gets 65 marks. The number of questions
answered correctly by him iIs

D2 225 315 D14

. One-half of three-fifth of one-fourth of a number is 27. What is 20% of that number?
D6 2 372 1) %6

- What should come in the place of both the question marks (?) in the following equation?
16 ?
2 81
D63 2 56 3 3.6 4 0.36




4.

17.

When 40 is subtracted from a number, it reduces to its two-third. What is 60% of that number?
a8 éogpeg 5008 4050 S1IcHe, T Dend 2/3 & Hoé wirH. & éospéé‘s 60% Qend os?
D8l 272 )27 4 3B

IT adding 24 to a number is equal to adding 30% of that number, then 40% of that number is?
a8 éogpegé) 24 Zendre el Qend 30% 0Boirho. e éogpéess 40% Do&?

1) 48 2) 40 DR 3B

The sum of three consecutive even numbers iIs 102. What is the difference between 1/2 of the
lonest and one-third of the largest number?

D4 26 38 4) None

IT the difference between a nurber and its three-fifth is 60, what is the nurber?

2.8 Koggd, QS 3/58 H0Hh DendH Bwe 60. ®ond & Sdogyg 6?

1225 2) 175 3) 150 48

When 84 is added to a number, the new number becomes 300 percent of the original number.
What is the original number?

2.8 Sogg 84 O1IS®, o Dend 300% wrHd. wand & Sogg d&?

Dal 2) 42 3) 200 456

The sum of the digits of a two digit number is 10. IT 18 is added to the number, the digits will
be reversed. What is the number?

2.8 Boose éogpagéﬁ o8 Jw&dw 10. 08 18 EODISE, 00HSY ©oBen FHITEHL0.
©ond & dogy 6?

D73 237 64 4) 46

A number when multiplied by 17, exceeds itselT by 48. What is the number?

2.8 Doggso 173 HBoSe e Jensd 48 EH. wowd & Qogy d?

D3 26 38 12

By how much more is three-seventh of 147 than one-fourth of 967

1478° 3/7% Ho& Dend, 966 1/45 $0%H DenSHET) o8 JENH?

D3 2) 46 39 Hal
The sum of three consecutive numbers is 36. What is the square of the middle number?
1) 144 2) 210 3) 130 4) 169

Pradeep is asked to divide a number by 5, but he wrongly multiplied the same by 5. His
answer is 72 more than the correct answer. What is the corret answer?

(DO 2.8 Qoggo 53 grA0Hedd axdoenre 5 HBodaed. sl 088 DX 0ET) 72
QENH SR, o0 HBY JSrEeIm Densd dod?

D15 23 32 D25
In the following product which number appears in the units place?
109x634x178x9364=

D2 22 33 DA




. 749 chairs are to be arranged in such away that the number of chairs in each column should
be equal to the number of columns. How many chairs are to be withdrawn to make this
arrangement possible?

D19 220 3 27 DB
. What is the sum of the numbers in the series 3,7,11,15. ... .. .. 75
1) 862 2) 71 3) 1210 4) 1443
. How many numbers upto 193 are divisible by 17?
D13 21 315 DI
. How many numbers are there from 250 to 502, which are divisible by 13?
D23 2) 102 319 DHRB
. How many numbers upto 355 are divisible by 3 and 4?
DO 2) 115 3) 51 4 63
. How many numbers from 281 to 651 are divisible by 2,3,4 and 5?
D18 223 3) 16 D6
. One third of three-fifth of a nurber is 17. What is the number?
1) 105 28 3) 65 D75
. 1T two-Fifth of a number is 1.8, what will be 300% of that number?
D145 2)13 3) 135 D14
- If two-fifth of one-fourth of a number is 4, what is the sum of the two digits of the nurber?
1D 40 28 D4 D1

. A number exceeds its two-thirds by 40. What is the number?

2.8 Jogy, IS 2/35 Sokh DendET 40 ENS. & Soyg V6?

D60 2) 110 3) 120 4) 180

. When 45 is subtracted from a two-digit nurber, It reduces to its three-fourth. What is 20% of
the number?

a8 éogpeg 5008 45 S1ToHe, e end 3/4H Hodk @rHd. & éospgé‘s 20% Qend No&?
1) 360 236 3) 180 4) 150

- A number when divided by 5 is diminished by 40. What is the number?

2.8 Doggso 58 epAoSe, ood end 40 ééﬁgﬁ) & dogy 6?

D60 28 350 4 120

. IT two-Fifth of a nurber is 15 less than the original nurber, what is the number?

a8 éoaaagessé‘\) 2/58 $0& Qend, & éoapegésa 15 éé)gy&é Hod. & éogpé d?

1) 60 2) 70 3) 8 425

) ) KEY ) D
D323 34 H3 54 6)2 D2 84 91 10) 3
11) 3 12) 2 133 1491 153 162 14 181 191 0)1
21) 2 2)2 2)2 22 X2 63 21 2B)4 292 0)3
31 3 )3 B)2 33  H4

G



([GCD AND LCM|

INTRODUCTION

Commin Divisor: A number which exactly
divides all the given numbers is a
“Common Divisor” of those numbers.
Thus 3 1s a common divisor of 24, 48, 63

and 81.
EXAMPLES

1) Find the GCD of 40, 56 and 72?
40, 56 085w 720 K.r.8. doe?
2) Find the GCD of 182, 273 and 455
3) Find the GCD of 72 and 1207

4) Find the GCD of 273, 325 and 403?

5) What is the side of the largest possible
square slab which can be paved on the floor
of a room 5m 92 cm long and 4m 81cm broad?

58.9220.8.0 §rES 80w 450.8120.8.0
Jenyio Jop HSSHK ©8Y $BEY Hose
802330 Do HotHon?
6) What is the GCD of 0.36, 4.8, 0.72 and 2.4?
7) Find the greatest nurber that will divide 116,
149 and 186 to leave the remainders 4,5 and
10 respectively?
116, 149 5000w 1860 grAoRdIHE 4,5
508050 10 FHSore HoH ﬁ@@ Qogy d?
8) What is the greatest nurber that will divide
168, 201 and 300 so as to leave the same
reaminder in each case?
168, 201 08050 3000k HIPS FHRS
orHendenme g0 ﬁ@g Qdogy d6?

~

q_east Common Multiple(LCM): The least
number which is exactly divisible by all the
given numbers is LCM.

12 is the least cormon multiple(LOV) of 3,
4 and 6.

\ Z =

9) Find the LCM of 12, 15 and 407

12, 15 08050 4008 &.J°.15.d08?

10) What is the LCM of 24, 36, 64, 80?

11) What is the LCM of 8, 12, 15 and 18?

12) What is the LCM of 0.12, 0.15, 0.2 and 0.54?
13) What is the least nurber that leaves 1 as
the remainder in each case when divided by
4,5,6,8 and 10?

4,5,6,8 £805% 1008 gRrAoD0HE 1 Dorben)
é@@ Qogy d6?

14) Find the least nunber that leaves 3 as the
remainder in each case when divided by 8, 12
and 16 and leaves no remainder when divided
by 7?

8,12 8050 1603 grAoDSHE 3 FhSore
HohHse, 78 Ségcﬁzﬁwm FPA0DDLD é&)@ éogpg
B?

15) What is the least nurber of five digits that
is exactly divisible by 4, 12, and 15?

4, 12 H805%» 1503 grhoted 5 @ogenie
é@@ Qogy d6?

16) What is the greatest number of 3 digits,
when divided by each of 3,4,5 and 6 leaves
the remainder 2 in each case?

3,4,5 80 60T grA0DIHNE 2 FHSore
HoH Sareose ﬁ@é Qogy d?

17) The LCM and GCD of two numbers are 2310
and 30 respectively. IT one of the nurbers is
210, what is the other number?

18) What is the least number when divided by
5,7 and 13 leaves 3,5 and 11 as remainders
respectively?

5,7 $8050 1303 grAcdSH 3,5 50805
11 FXSwenrr o0y é@g Qogy d?

19) The sum of two numbers is 130 and their
GCD 1s 26. How many such pairs are possible?
2 Sogge K85, 26. 8 IwgSn 130.
©enH0E wBen A HotdH?




( EXERCISE ]

Find the GCD of 24, 56, and 72?

D12 28 36 D4
Find the GCD of 273, 455 amd 5467

113 27 39l 4) 128
Find the GCD of 78 and 1307?

113 2) 26 3)18 H2A
Find the GCD of 299, 325 and 4037

1) 18 2) 16 3)13 D26

What is the side of the largest possible square piece that can be cut from a cloth of 4m 48cm
long and 3m 64cm broad?

4. 4820.80. LD 08 3. 64 0.2, Beyie Jup DB JEBS SHLE S
802330 Do HotHodn?

1) 28cm 2) 3lcm 3) 37 cm 4) 34 cm
What is the GCD of 24, 48, 72?
D22 224 DB HE2

Find the greatest number that will divide 116, 149 and 188 to leave the remainders 4,5 and 12
respectively?

116, 149 58050 1880 A0S 4,5 $H8c5n 12 Fhdore 00 ﬁ@g éogpeg d?
D12 214 3) 18 1) 16

What is the greatest nunber that will divide 169, 202 and 301 so as to leave the same remainder
in each case?

169, 202 8050 3010 o8 ik SiHen ehod KOF Kogg HB?

137 3B B 4) 38
Find the LCM of 12, 15 and 20?
1 120 2) 180 3) 60 4) 0

. What is the LCM of 12, 18,32, 40?
1) 1448 2) 1420 3) 1440 4) 1280
What is the LCM of 8, 12, 15 and 36?
1) 380 2) 360 3) 370 4) 365

. What is the LCM of 0.15, 0.2, and 0.54?

1)5.2 25.4 32.7 548

What is the least number when divided by 5, 6, 8 and 10 leaves 2 as the remainder in each
case ?

5,6,8 00050 1008 grA0DSHE 2 BHRS0Me Hoh 83} Koy AO?
1) 128 2) 12 3) 123 4) 127

N\
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4. Find the least number when divided by 12, 16 and 20 leaves 1 as the remainder but when
divided by 7, leaves on remainder ?

12, 16 0805w 2003 gPRodIHE 1 RS0 ang) Hdcko 73 IFnLomr grhoSan EIR
Ddogyg 6&?

1) 726 2) 728 ) 721 4) 798

15. What is the greatest number of five digits that is exactly divisible by 12, 15 and 16?
1) 10060 2) 10078 3) 10080 4) 10040

16. What is the greatest number of 3 digit when divided by 4, 5, 6 and 10 leaves a remainder of 3 ?
1) 31 2) 938 3) %67 1) %61

NOTE: The product of two numbers is equal to the product of their LCM and GCD.
i.e. If a,b are two numbers then, a x b = LCM x GCD.

17. The LCM and GCD of two numbers are 2310 and 30 respectively. IT the first number is 330, find
the second number?

Botd Kogge .. 1. 08w K.ar.85.e0 2310, 30. I0Hd Sogyg 330 ©ondS® Bokd Qogy
d?

1) 270 2) 210 3) 260 4) 280
18. What is the LOM of 4/5, 5/6 and 8/15 ?

1) 60 2) /40 3) 40 4) 1/60
19. Find the GCD of 2/5, 3/16 and 4/7 ?

1) 1/700 2) /70 3) /350 4) 1/560

2. The sum of two numbers is 162 and their GCD is 27. How many such pairs are possible ?
BotdH Dogge K., 27. 8 g 162. @éé a8 ) Hoto?
D2 23 31 4) None

KEY

1)2 D3 32 H3 51 62 N4 83 93 10)3

11)2 12)2 13)2 143 153 16)317)2 18)3 194 20)3




[TIME AND DISTANCE]

1) Speen = D|§tnce
Time

2 ) Distance = Speed X Time

Distnce
Speed

3) Time =

5}
A “a’ kwhr = ax(ng

(18
5 “‘@>m/sec=ax | -

-

1. A car covers distance of 540 km. is 30 hrs.
What is its speed inmps. ?

2. Abicycle covers 30 m In 24 sec. What is its
speed in kmph ?

3. Acar cowers a distance of 720 km. at 50 mps.

4. Abus covers adistance In45 min., if it tums
at a speed of 60 kmph. The speed at which the
bust must run to make the time of journey to
30 min. is___kmph. ?

.8 X)) §°08 tr8sno 60 kmph . Z5508® 45
DH0RJ00s® TBIH. ©8 SrSSsnd 30
DH0ZS00SE et ol SHS» Do
NDOLIB0?

5. A car takes 75 min. to cover a distance of 80
km. In how many minutes can it cover the same
distance IT the speed is reduced by 4 kmph ?
2.8 5% 808.5.0 &5e85m 75 Q.08 rdla.
o F5sw 4 kmph-é@éﬁs 8 S50 Y
D050t eeaiernss?

is

7~ N

Average Speed = Total Distance/Total Time

Average Speed : 1T a body covers certain
distance at “a” kmph an equal distance at
“b” kmph, then the average speed for the

whole journey is

[Zab
a+b

} kmph

6. A car travelled from A to B at 60 kmph. and
returns the same distance at 40 kmph. What
is the average speed of the car for the whole
Jjourmey ?

2.8 5% A 008 B % 60kmph 35508 £r8oi
B $008& A & 40kmph .35508® (H05rdod58.
o Jisen RiDos?

7. Acar covers half of the jourmey at 18 kmph.
ad the rest at 12 kiph. If it takes5hrs. inall,
what is the total lenght of the jourmey in km ?
8. Raju goes to city A from city B at 30 kmph
and retums to B from A at 20 kmph. 1T he takes
10 hours in all, what is the distance between
the two citiesAand B ?

9. Gopal covers one-third of his jourmey at 20
kmph. and the rest at 40 kmph. IT he takes 12
hours in all, what is the total Jourmey in kn?

RS &3 (Hosreasns® 1/38 Sodh Srdsno
20kmph.&%:5, OADS LrEsnds 40kmph &%
(BSrBoTH. Ingso 12Ko0es HGSS®
(BSreaRnoE LrEn?

10. Karim takes 8 hrs. inwalking to a certain
place and riding back. However he would have
gained 3 hrs. had he rided both the ways. How
long would he take in walking both the ways?

85 a8 (DEEEMIH St 38), 85D
($05easns® s SnR $EedH Sndsn 8
Koren 038263 9525 a&ﬁao_ﬁog)eﬁ a%ﬂééﬁ:a"‘
@cﬁm%o:‘i)séﬁs 3 Kotren SRAB. WS a&a@@

JBDSS AQroeren o)éoazéa'?

D



11. The average speed of a car is 45 kmph.
without stoppages and with stoppages it is 36
kmph. How many minutes per hour did the car
stop ?

a8 TN Srgins® entome 45kmph.
S50 LB eéavéé:oesa sASS® 36kmph.
S5s0s® 5@%)26@26&& ©ons ©d Kotos® A
QB00050en eiHHNG?

12. The speed of a vehicle is 50 kmph excluding
the stoppages and it is 45 kmph. including the
stoppages. How many minutes per hour did
the vehicle stop ?

13. Walking at 4/5 of his usual speed Ramesh
reaches his office 12 minutes late. What is the
usual time taken by him to cover the same
distance ?

SR S5 JoeSes Bi550S® 4/58 Hosh b8’
$EHeFed w9hHE 12 JdnHbven Bl
IR, 9B FTRBEI0TT 950 SHead
cDoéé DX0ADHB0 DHeno?

14. Two cars start at the same time from A
and B towards each other. The speeds of cars
are 64 kmph. and 46 kmph. By the time the
two car had covered 90 km, more than the
other. What is the distance between A and B?

BotdH =8 .80 A,B © £08 eSS e.588
64 08050 46 kmph .o 35508° 20HenEBlo.
©d SOJIID)BE 2.8 578 DoEITIETY
908.5n. e QENS (BAPBoNI6. A,B © &y
Br8o0E?

ITS, and S, are the speeds of two
bodies, then their relative speed

(apparent speed) =S +S,, if they are
moving in opposite dlrectlon
P (@ é—X—>

S, S,
The Felative Speed = S1 S,, if they
are moving iIn the same direction
—>s,

H’Sz

\

&

15. The distance between A and B is 360 km.
Two buses started from A and B at the same
time towrds each other with the speeds 34
kmph. and 38 kmph. respectively. At what
distance from “A” will the two buses meet ?

A,B © 05 trdsm 360 8.8.en. A,B © £08
2,80 Bodh axdyyen 34, 38 kmph.o SKL0&®
2. ETPORD 8.8 HBBR. @D A £H08 dod
Br8E0SE BenosRb080?

16. The distance between A and B is 305 km.
A train starts fron A towards B at 20 kmph. at
6 a.m. Another train starts fron B for A, at 25
kmph at 10 a.m. Whaen will they meet ?

17. Two cars start from A towards B - one at 5
a. m. at the rate of 27 kmph. Another car starts
at 8 a.m. at 36 kmph. At what time will the two
cars meet ?

18. A car reaches its destination 18 min. late
when 1t drlves at 40 kmph and 24 min. late
when 1t drives at 30 kmph. What is the distance
between two stations ?

a8 5% 40kmph.3K508 I§)IHd 18
QN0 &R HDwew BOIFI0 M Sodasw
30kmph . 3&0&® 3@@26@&0 24 H0nR50en
BOILH0P SEd0. @owd & Kogdn dod
EeE50?

19. David walks from his house at 4 kmph.
and reaches his school 6 min. early. The next
day he decreases his speed to 3 kmph. and
reaches late by 9 min. How far is the school
from the house ?

GDE o&0d BmenH 4 kmph.SKEns®
SHIDE 6 AwHS0en $0okrS, 3kmph.
SKS0s® S 9 Dnnen esegRorrdd
Bk, @8 50HH508 Qendiie Brdhod?

20. Ravi rides by a cycle at 8 kiph. A fter every
10 km. he takes rest for 20 minutes. How long
does it take to cover 40 km. by him ?

82 8kmph. JXsn&® 80 IFYIe, (H8

108.0.0 $o78 20D5wRE0ED SHDHTD.
w8t 408.80.0 ErEHNks DoEHHEE D6KekH?

2.2/



21. Two bicycle riders covers a certain distance
at the rate of 32 kmph. and 30 kmph. One rider
takes 16 min. more than the other. What is the
distance they ride ?

28 Hgen 32, 30 kmph. Srswes® 286D
(BaSed oo o. T08®  Innsdae 16
Q30033s0e0 Sootdre ﬁéaegéw ZOBEE, e B
Boireasn O 8 Dedy?

22_ IT the car travels a distance of 480 km. in 12
hrs., partly at a speed of 60 kmph. and partly
at 30 kmph, find the distance travelled at 60
kmph ?

2.8 5% 12 Koted® 4808.8n.en (HASTBoDKE.
S® EP08 Sredsm 60kmph. 08350 HADS
Sr8En 30kmph. JKS0E IYSH. wowd
60kmph.. 508" DY) B R S ery?

2. Abus travelled a distance of 300 km, In 8
hrs. partly at 60 kmph. ad the remaining at 24
kmph. Find the time i1t travelled at 24 kmph?

2.8 ady) 300 8.8.0 Srdsmd 8 Kowes®
I8, 808 trdin 60kmph. OADS Krdsin
24kmph. 3K508° 39)9S°, 24kmph . K08
Q) Hotren (HAsreasin B567?

2. Pranav has to travel 84 km. distance in 1
hr. 20 minutes. He travels 60 km. distance at
90 kmph. At what speed (in kmph) has he to
cover the remaining distance to conplete the
uourney in the stipulated duration ?

(K68 84 8.50.050 150120es® (Hairdod
T, 0B 05 60 8.8n.ev, 90kmph.
SHE0E® (SSrBoad. ®ond ADS
(DSreastins® IrxRvos?

5. The speed of a jJeep and a car are in the
ratio4 : 7. IT the car covers a certain distance
in 56 min, in how many minutes the jeep
covers the same distance ?

2.8 £ Hbcn He Ifswen 4:7 ?OK@@@SE
Eo). 6 o8 Erdsnd 56es® wdse.
o8 Br8505 £H NI} DEnRE0eS trendo?

L

{ EXERCISE }

J

1 The speed of a train is 45 kmph. What is its speed In n/ sec ?

1) 16/ sec 2) 12 v/ sec

2 The speed of a bus is 40 n/sec. What is its speed in kmph ?

1) 12 kmph 2) 144 kmph

3 In how many hrs. a bus covers 450 km @ 50 m/ sec ?

1) 3hrs. 2) 212 hrs.

3) 14.5n/ sec 4) 12.5m/ sec
3) 196 kmph 4) 135 kmph
d4hrs. 49 31/2hrs.

4 A bus takes 45 min to cover a distance of 60 km. In how 1t covers the same distance if the

speed is reduced by 20 kmph?

a8 ady) 60 8.5, 0% 45d08® d5s. e Iksn 20 kmph. é@éﬁs, 8 SrE508 Do

DEHB0S® Toenisn?

D 1lhr 22hr

3 3hr Dahr

5 A car covers half of a jourmey at 40 kmph and the remaining distance at 10 kmph. What is the

average speed of 1t?

2.8 5% DS B850 40 kmph. &%, ADS &rdSnd 10kmph. & oed3SE, Swssm

(D T5easinR g Histn RiiDos?
1) 12 kmph 2) 16 kmph

N\

3) 18 kmph 4) 24 knph

G



4.

Ravi goes to city Y from city X at 20 kmph and retums the same distance distance at 60 kmph.
IT he takes 3 hrs. in all, what is the distance between X and ?

8D X 5008 Y & 20kmph. S5508°% 508050 Y £00& X & 60kmph. S550&° 5@%)@&3. BRIV
3508en 53@2658, X,Y © 05 Bre8Hhod?

1) 45 kms 2) 80 kms 3) 120 kms 4) 10 kms

A car travels first 450 km. at 90 kmph. and the remaining 750 km. at 50 kmph. What the average
speed of the car for the who journey?

1) 20 kmph 2) 40 kmph 3) 60 kmph 4) 80 kmph
Ramesh covered one - fourth of a jourmey 30 kmph, one - third of the journey at 50 kmph and
the remaining at 25 kmph. What is his average speed for the whole jourmey ?

SR $5 (HoPreasns® 1/485 Hosh Erdsnds 30kmph, 1/3% HSoh Grdsnd 50kmph . H:80%0
SoADS ErdKndo 25kmph. & IYT. eS8 Hiien SriFos?

1) 7.5 kmph 2) 46 1/ 13 kmph 3) 46 kmph 4) 31 11/ 19 kmph
Lavanya takes 6 hours in walking to a certain place and ridein back. However she would have
gained 2 hours if she had rided both the ways. How long would she take to walk both the
ways ?

D 16hrs. 2) L2 hrs. 3) 10hrs. D 8hrs.

The speed of a car including atoppages is 36 kmph. and without stoppages is is 48 kmph.
How many minutes per hour did the car stop ?

D 12 min. 2) 15 min. 3) 16 min 4) 20 min.

Walking at 6/7 of his usual speed, a boy reaches his school 4 min. late. What is the usual time
taken by the boy to reach the same distance ?

1) 40 min. 2) 48 min. 3) 0 min. 4) 24 min.

- Abus travels a distance of 220 km. in 6 hrs. partly at 40 kmph. and partly at 35 kmph. Find the

distance travelled at 35 kmph?

a8 2%y 220 8.80.e0 6 Howes® IYJB. §o8 grridnw 40 kmph. LBk DHADS grrsw
35kmph. & 3YIS°, 35kmph. SKE0E® IS ErEHoE?

1) 160 km 2) 120 km 3) 140 km 4) 180 km

Ravi and Raju start together to ride a certain distance with speeds 18 kmph. and 15 kmph.
Find the distance they ride, it one them took 20 minutes longer than the other?

89 £080%0 Teeren §°08 SrrdHnd 18, 15 kmph. ©&° (Hosrdosie a8 3hHd dchdnes®
Bee 20100 HHB. T DD (HASTeasn ) 8% 0ed?

1) 30 km 2) 60km 3) 90km 4) 120 km

A bus reaches its destination 10 min. early when it drives at 25 knph. and 5 min. late, if it
drives at 20 kmph. What is the distance travelled by the bus ?

1) 20 km 2) 25km 3) 30 km 4) 25 km
N\
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15. Rajesh covers two - chird of his journey at 40 kmph. and the remaining distance at 20 kmph.
IT he takes 16 hours in all, what is the total jourmey in kms. ?

1) 480 km 2) 340 km 3) 400 km 4) 440 km

16. The speeds of two buses which started from two towns A and B at the same time towards
each other are 66 and 42 kmph. respectively. The distance between A and B 1s 540 km. At what
distance from A will the two buses meet ?

A,B © Logs 8r8cn 540 8.80.e0. 8310 A,B © K008 Bod adyen 66,42 kmph. ©&° 2.8wdZH
288 0HNRBID. @D A L0008 Do ErESNS BenosRE080?

1) 270 km. 2) 210 km. 3) 320 k. 4) 330 k.

17. The distance between cities P and Q is 340 km. A bus starts from P for Q at 6 a.m at 40 kmph.
and another bus starts from Q for P at 10 a.m at 50 kmph. When will they meet ?

1) 4P.M. 2) 12°0 clock 3) 3P.M 4) 5P.M.

18. Two cars start form A tovards B, one at 8 a.m. at 15 kmph. and the other at 10 a.m at 27 kmph.
At what time will they meet ?

Boh %G A 08 B 9 IRYDHHD. Iwdd 528 8 Kotwe 15 kmph. Srkns® 58ak0 Bokd
o8 1050805 27kmph. & 20HenBBR . © O HSCHBNS® BeninEok?

1) 12.00 noon 2)11.40 AM 3) 11.30 AM. 4) 12.30 P_M.

19. The speeds of a car and a bus are iIn the ratio 3 - 4. IT the bus covers a certain distance in 24
minutes, how many minutes will it take for the car to cover the same distance ?

118 2R 3) 16 D14
2. A car covers a certain distance in 30 minutes. In how many minutes, will it cover the same
distancem, 1T Its speed increases by 20% ?

124 2)28 3
KEY

D4 22 P2 H1 52 61 D3 84 P4 10)2

. 420

14 12)2 131 142 151 16)4 172 184 192 20)3




CEIS

In case a train passes a tree (or) a
telegraph pole (or) falg staff (or) a
stationary man

the distance = the length of the train.

EXAMPLES

1) How many seconds will a train of 100 metres
long running at the rate of 36 kmph take to
pass a telegraph pole?

100 &0es resdie> 2.8 Bew 36kmph . Fisns®
(DXTB0HIDE @& 28 LoD Tt
A DB ééqawzéa?

CEIS

In case a trin crosses a platforam (or) a
bridge (or) a river (or) aturel :
Distance = [Length of the train]

+ [Length of bridge (or) platform (or
e ...l

2) How many seconds will a train of 120 metres
long running at 48 kmph take to cross a
platform of 160 metres length ?

120800 £r8HKe Beo 48kmph. Frso&®
(BSBoH5H, 160 &b.o FEHKe Fdarod
) 2EZS® enn?

3) A train is running at 63 kmph. In how many
seconds willll Tt cross a man running in opposite
direction at 9 kaph. if the length of the train is
200 m?

2008068 rsHre Bew 63kmph. FKS0&L,
$5808 ¥S* 9kmph . Srisns® HERE KA
A EFS® wreoriorH?

4) A train takes 18 sec. to cross a man running
in the same direction at 12 knph. IT the speed
of the train is 92 kmph, what is the length of
the rain ?

L~

(TRAINS]

92kmph . Fn550&° 2.88en @ &FS® 12kmph .
SKS0S® HERE HoVRY 18 1EKS® dIe.
00 & Ben FPEI0E?

5) Two trains cross each other in 25 sec, when
they are running in opposite direction. The
speeds of two trains are 42 kmph and 30 kmph
respectively. If the lenth of the first train is 280
m, what is the length of the second train ?

Botd Bt 42, 30kmph. Frioes® H808 &38°
(BOSPB0SHD, eETATES wreneddd 25 B
HEH6. Fors&Ben 2808068 FEHHS® oK
Ben PEI0E?

6) Two trains of 480 m and 520 m long are
running in the same direction. They cross each
other in 180 sec. IT the speed of the slower iIs
48 kmph, what is the speed of the faster train?

480, 520 &g FEHHe Bowpey) e86IS°
(HSTBoDEHD, © EITES 180185’
TBSD. E5NH SrSnE® SeoH Beo Sefsw
48kmph . oSS, Bokd Qe SEos?

7) A train crosses a bridge of 180m. in 36sec.
and it crosses a pole in 24sec. What is the

length of the train?

2.8 Ben 180 oeod rsdiie Hoaddo 36 EHS®
LB .8 Koddwd 24 DEZS® ds. ©
Ben PEI0E?

—\
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(EXERCISE - 1)
How many seconds wi Il a train 400 metres long running at the rate of 48 kmph take to pass a
telegraph pole ?
400 ﬁbéog e Ben 48 Kmph SEE0E® (HArBoDIHD, a8 L0800 TRentodd Qo
ESENbIoh ROy éeqawzéa?
1 25 sec 2) 0 sec 3) 40 sec 4) 48 sec
How many seconds wi Il a train 220 m long running at 72 kmph take to cross a platform of 180
metres length ?
1 15sec 2) 18 sec 3) 20 sec 4) 25 sec
A train of 200m. crosses a bridge in 25 sec. IT the speed of the train is 54 kmph, what is the
length of the bridge ?
200 &oed8 rEHNe Bew 25 DELS® el H0BEH IS, Bew IK» 54 Kmph eowdst,
H083 LD No&?
1) 108 km. 2) 110 km. 3) 165 km. 4) 175 km.
A train is running at 60 kmph. In how many seconds will it cross a man running In opposite
direction at 12 kmph, if the length of the train is200m ?
1) 18 s=c. 2) 15 s=c. 3) 10 s=c. 4) 8=c.
A train takes 18 sec. to cross a man running in the same direction at 12 kmph. 1T the speed of
the train i s92 kmph, what is its length ?
92Kmph 35508° 2.8 Bew oF BFS® 12 Kmph Frsn&® H8RE) 50050 18 EKS® ordss. o
Ben PEI0E?
1) 400 m 2) 440 m 3) 500 m 4) 480 m
Two train running on parallel lines are 190 k and 110 m. long. Their speeds are 28 kmph and 25
kmph. In how many minutes will they cross each other, If they are moving in the same direction?
190, 110 &g S EHKe Bo BEy 28,25 Kmph Sriswes® o8 638 (HErdodIH®m, ©
2 ETATES AQ) Adwidwes® meents?

1D 4 min. 2) 6 min. 3) 8min. 4) 10 min.
Two trains cross each other in 25 sec, when they are running in opposite direction. The speeds

of two trains are 42 kmph and 30 kmph. respectively. IT the length of the first train is 280 m,
what is the length of the second train ?

42, 30Kmph Sr5we8® Both By H580863S° (HArBoHD 8TITES et 25 DER
HBHH. Iots® Ben U 2808068, BokS Beo FEI0S?

1) 180 m 2) 360 m 3) 240 m 4) 220 m

Two trains of 340 m. and 660 m long are running in the same direction. They cross each other
in 180 sec. IT the speed of tghe slower train is 48 kmph, what is the speed of the fater train ?

340, 660 ey TPEHKe Bo BEy) 28BIS® (HArBoHdD, 180 DEZS® 2.ETVTES &I
2.83en I 48 Kmph 5%, Bo&s Ben Srbos?

1) 48 kmph. 2) 68 kmph. 3)72 kph. 4) 92 kmph.

G2



4.

A train crosses a bridge 140 m long in 15 sec. and another bridge of 200 m. length in 18 sec.
What is the lenght of the train

1) 160 m 2) 140 m 3) 200 m 4) 120 m

Two train are moving in the same direction at 60 kmph and 36 kmph respectively. The faster
train crosses a man in the sloner train in 24 sec. What is the length of the faster train ?

Both By 60, 36 Kmph Sriznes® o8 63S° St)h)d. S0s&Ben, Bors Bed™ el &Y
24 JELS® rAIH. ©ond InEEBen FEIos?

1) 120 m 2) 140 m 3) 160 m 4) 180 m

A train of 200 m. length passes a tree in 10 sec. and it croses another train of double the lenght
travelling in opposite direction in 12 sec. What is the speed fo the second train ?

1) 96 kmph 2) 109 kmph 3) 108 kmph 4) 15 kmph

Two trains cross each other in 16 sec, if they move in opposite direction and in 36 sec, if they
move in the same direction. What is the ratio between the speed of the faster train and the
slover train?

Both By 2.808S° IYPIHEH 36 .08 oo ST BIS® IYIHE 163.08° LETITES
. 8 Idwo QY Jod?

Dn:5 213:5 D1:5 DHO:7

A train running at 108 kmph, crosses a man standing on a platform in 40 sec. What is its
length?

108 Kmph 3508° [5a8re0 Bev, at5a0 3 Jen)id) 2 40 .08° wedbh. Ben FEI0S?
1) 1600 m 2) 1400 m 3) 1100 m 4) 1200 m

Two trains of length 420 m and 280 m are moving in opposite direction with speeds 132 and
120 kmph. In how many seconds will they cross each other ?

D12 23 3) 20 4) 10

A train of 1400 m crosses a tree in 120 sec. In how many seconds willl it cross a bridge of 700
m length ?

1400 oeog PEHNe Bev 28 e 120 1EZS° @36, o8 Beo 700 ey FEHKe
H0BIL A EFS® wreoriorH?

1) 160 2) 180 3) 200 4) 60

KEY

D2 23 34 H3 51 62 D4 82 91 10)3

11)3 12)2 13)4 144 15)2




(STREAMS]

IT “a” kmph is the speed of a boat or a man in
still water and if “b” kmph is the speed of the
Tlow then the speed of the boat. . .
i) Along the current (with the current or domn
the current) = (a + b) kmph
i1) Against the current (Up the current)

= (a - b) kmph
A Kmph___ QeS&m 9 HAS® H5S Sissdm
B Kmph___ (%arse Si58m ©onsd
en 8IS & HES Jiidn A+B @ihdo.

eﬁag@éé OIS & HES Fridw A-B e

EXAMPLES

1) A boat can row upstream at 6 kmph and
down the stream at 12 kmph. What is the speed
of the boat in still vwater ?

$580E BIS° BYBHH D& Jnssw 6kmph
S0B5D deen HISE IYPBHE T S0
12kmph  ®@ond JosEmr HX) ABS® H&H
SKD0E?

2) Aman can row at 8 kmph in still water. Ina
stream which is flowing at 4 kmph, it takes
him 2 hours to row to a place and row back.
How far is the place?

QeBEP H) ABS Hrssriso 8kmph.  (Kaeee
I 4 kmph. a8 K68 a8 (HHESw $od
HTE S0 39) BOA Kyt FoFKw 2 Hoten
BB, & (HAELD o8 WrdEns® Eok?

3) A boat can row 24 km down the stream in 4
hours. 1T the speed of flow is 2 knph, find the
time required for the boat to travel the same
distance against the current?

2.8 HES 24 8.80.0 ErEEN (Haesesnsd
©508re B3 45otes® TOL6. (Harsr Sitdm
2 kmph.  @and @ HiEd et &rdnt K808
BIS® TeneEH Dod HIAHKD HeERo?

4) The speed of a boat in still water is 8 kmph
and the speed of the flow is 2 kmph. The boat
travels from A to B down the stream and
retums the same distance in 2 hours. What is
the distance between A and B ?

DoBEe HIJ) HAS® Hrd Sssmw 8 kmph.
Baesre X5k 2 kmph. 2.8 D85 A 08 B &
(Harss BEST H805m B K008 A EVERNMEY
oo 250¢en ééé&. oo A,B o S5y
Le800E?

5) A boat rows between two places down the
stream in 2 hrs. and retums the same distance
in 3 hrs. IF the speed of the flow is 2 kmph.
What is the speed of the boat in still water ?

Barerarism 2 kmph. 2.8 65 808 o5
Te0BIS® 2 Kot HBein 8 ErEHnd
éag@éé 63 3 Kowes® meered. wond
QoBET HI) HAS® & HES Fsdw Dos?

{ EXERCISE }

1 A boat can row upstream at 10 kmph. and down the stream at 24 kmph. What is the speed of

the boat instill water ?

Sems Sg8TE BIS® 8 H&S 10 kmph.  Bridme® 0050 Harce 6IS° 24 kmph . Srisns®
3936, wand L™ H) VBS & HES Jrsw Jos?

1) 13 kmph 2) 17 kmph

3) 19 kmph 4) 21 kmph

2 A man can row down the stream at 20 kmph. The speed of flow is 6 kmph. What is tghe speed

of the man against the stream ?

N\
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Saree 36k 6 kmph . (Serie 8360 8 5020 20 kmph . 08 88355, 55858 686° 08
SK5w Dod Hot?

1) 8 kmph 2) 10 kmph 3) 16 kmph 4) 21 kmph
The speed of a boat is 24 kmph against the current and it is 32 kmph with the current. What is
the speed of the flow ?

Samse $008 BIS° 8 B Irsw 24kmph . SO (Hare 8IS o Fsdn 32 kmph .
oS (Paie BKS Dos?

1) 10 kmph 2) 6 kmph 3) 4 kmph 4) 5 kmph
A boat can row 3 km up the stream in 36 minutes and down the stream in 18 minutes. What is
the speed of the boat i1n still water ?

28 DS 38.80.0 ErEsndy ([Haese éeg@éé 65 36 Q.08° Hrdx%w (Harsr IS 18 J.es®
rereth. @ond JOBHEM™ HF) HBS® & HED Frsdw Do HoK0?

1) 4. 5 kmph 2) 6 kmph 3) 7. 5 kmph 4) 8 kmph

A boat can row 36 km down the stream in 6 hours. IT the speed of flow is 2 kmph, find the time
required for the boat to travel the same distance against the current ?

28 HEH 36 8.50.0 Sr8smdy (Ko &FS® 6K50.08° L6, (Haese Ssw 2kmph . eond
% Sr8Hnc 265@6% 635 & HES dos ?Soo“nésj e ?

D 18hrs. 2) 12 hrs. 3 15hrs. D 24 hrs.

The speed of a boat still water is 15 kmph and the speed of the flow is 5 kmph. The boat travels

from A to B down the stream and retums the same distance in 3 hours. What is the distance
between A and B ?

QedEme é)ié&ﬁ)é%é’s 2.8 DS 5w 15 kmph . (Haess Si5do 5 kmph. e 5885 A 08 B &
85w B oo& A & kw3 Ko.08° (HoSrBodB6. wand A,B © &g LrEoEs?

1) 18 km 2) 19 km 3) 20 km 4) 21 km

The speed of the boat in still water is 8 kmph. it takes the boat thrice as long to row up the
stream as to row down the stream. What is the speed of the stream ?

QeBEM DI HAS B ko 8 kmph. & 385 edsre &dst 5@%);6{303é3ésg: zﬁﬁéé &3t
3@%):6?’.9)& 3B¢» D0 K)éoamzéa. OV (Hare S5ED Dos?

1) 3 kmph 2) 4 kmph 3) 5 kmph 4) 6 kmph

A boat rows between two places down the stream in 4 hrs. and returns the same distance in 5
hrs. IT the speed of the flow is 2 knph what  is the speed of the boat in still water ?

28 DD 808 L0 (s &dst 5@%):60“9)& 4 Ko.08® 8050 ©F ErSs0k eﬁagé’ééé &8st
3@%);639)633 55008 weeno. (s RsH0 2 kmph . onSSE, Jessmr @26&;5&@35 DS FsRpos?
1) 18 kmph 2) 8 kmph 3) 1 kmph 4) 12 kmph

The speed of a boat in still water is 20 kmph. and 1ts speed against current in 8 knph. What is
the speed of the boat along the current ?

1) 32 kmph 2) 16 kmph 3) 12 kmph 4) 18 knph

Go



4.

A boat rows at 10 kmph against the current and the speed of flow is 4 kmph. What is the
speed of the boat down the current ?

1) 12 kmph 2) 16 kmph 3) 18 kmph 4) 16.5 kmph

A man rows against current is 10 kmph and with the current it is 15 kmph. What is the velocity
of the stream ?

1) 2.5 kmph 2) 2 kmph 3) 3 kmph 4) 4 kmph

A boat can row 4 km in 24 minutes along the current and the speed of the current is 3 kmph.
What is the speed of the boat up the current ?

2.8 HES (Had BISE 4 8.8.0 BrdEndd 24 9.0 mind. [Hare 3o 3 kmph. @andS,
Sams $5808 B3 o B I o8 Hoth?

1) 4.8 kmph 2) 4 kmph 3) 5 kmph 4) 6 kmph
A boat can row 5 km up the stream in 60 minutes and down the stream in 30 minutes. What is
the speed of the current ?

28 HES 5 8.5.0 Erdsnd (Harse éé@éé 6ES® 60.08° Lok P 88 309.08°
ORI, oS (Harse RKDos?

1) 2 kmph 2) 3 kmph 3) 2.5 kmph 4) 3.5 kmph
A boat goes 36 km with the stream in 6 hours and it goes 40 km against the stream in 8 hours.
What is the speed of the boat in still water ?

28 HES (Paese 6IS® 36 8.5n.08 65008 Kb (Haese éé@éé 8IS 40 8.8.0%>
8i50. 0% treaeln. wond JeBEmr DY, HBS® & HED K550 os?

1) 5.5 kmph 2) 11 kmph 3) 7 kmph 4) 8 kmph
A man can row 12 kmph in still water, it takes him twice as long to row up as to row dowmn the
river. Find the rate of strean?

QeBET DI HBSE 2.8 358 12 kmph. S5508® Sssries. @5 08 BErSHnk (Harse 8
5%26@&%5&, éé@bgé B3t 3@926@&3 Bééoo@ $500HB0S® DKo, wand (Harse JiHn
D0o&?

1) 6 kmph 2) 4 kmph 3) 8 kmph 4) 3 kmph

KEY

D2 21 33 H3 51 63 D2 91 91
1003 1)1 12)2 13)3 14)1 15)2




[CHAIN

RULE)

EXAPLES

1) IT 12 books cost Rs. 8, what do 30 books
cost ?

2) A hostel had provisions for 500 boys for 40
days. If after 2 days, 100 boys left the hostel,
how long willl the food last at the sare rate ?

a8 ossroé:e‘i's 500 0068 40 Sfered $8Hm
@oﬁéawézﬁw@) o). Bok Bere oxg 100
00 oss@eﬁ HOOBS® ADD Jrrgswen B8R
A SSwoé) DBHLK?

3) 40 men can build awall of 320 m in 12 days,
working 8 hrs. a day. What length of the similar
wall can be built by 25 men in 16 days, working
9hrs.aday?

40 %06 8% 8Kotre TP, 12 Shered®
360 Qoeog DK i 8GO, wows 255008

e 9Kotre zS"K)o)DEé 16 &Perods® Do
@dé}é&ﬁséégﬁo&.

4) 80 boys can make 30 boxes in 20 days. How
many more boys should be employed to
prepare 60 bgxes in 25 days ?

80 Hvod dgen 20 Slereos® 30 0380260
ShKes. @oaozé 25 &lereos® 60 coéBe):é)
B50eE SIS0 Do 2 dYen 36266263‘?

5) IT Ramesh has been twice as efficient as
today, then he would have finished a work in
10 days. IT his effciency is reduced to one-third
of what it is at present then in how many days
would he be able to finish the work ?

BHH HAFH08s50 (5% coé’ég 80(‘&3863326&58
28 53D 10 Sered® Schow. wond ©38
3“263(%32633 (5% 285° 35 Ho&H% éﬁ?éé’s e
BAD A SPeres® Sohredr?

N

{ EXERCISE }
IT 16 pens cost Rs. 24. What do 18 pens cost ?

D28 227 DA HP

A Hostel had provisions for 500 boys for 80 days. 1T 300 boys left the hostel, how long willl the
food last at the same rate ?

1) 50 days 2) 200 days 3) 60 days 4) 100 days

IT 60 men working 7 hrs. a day can do a piece of work In 9 days, in how many days will 21 men,
working 8 hrs. a day do the same work ?

1) 20 days 2) 21 1/2 days 3) 2 1/2 days 4) 24 days

40 workers can dig a canal of 160 12 days, working 8 hrs. a day. What length of the similar
canal can be dug by 25 workers in 16 days, working 9 hrs. a day ?

40 %008 B%% 8 Ko.0 NP 12 Bered® 160 el FEHKe sPend BB, 25 Hood
Bl 9 Kot TIPS 16 SPeros® Do PEDHT) seensd (BKedn?

1) 140 m 2) 150 m 3) 160 m 4) 180 m

A hostel has provisions for 150 girls for 45 days. IT after 10 days, 25 girls left the hostel, how
long will the food last at the same rate ?

a8 055:0563'5 150 £008 erOBe% 45 Slaren 585K coméeéaae» 0. 10 Pere o 25 0ok
S é&@éx’i‘s 1ADS comézﬁ:ae:o B8P A &Peren (06036‘,0263‘7

1) 42 days 2) 30 days 3) 160days

432 days

o\
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A hostel, for 300 students has provisions for 20 days. I after 4 days, there is a further increase
of 100 students, how long will the provisions last at the same rate ?

a8 Kssée’):é's 300 0068 20 SPewren KOHP K)C?geéco@ o). Teenth SPare B0 @0
100 $0b 360, ADS Hrrgdmenr P Y Sewren HOHEKH?

1) 10 days 2) 15 days 3) 20 days 4) 12 days

40 girls can make 30 boxes 1n 20 days. How many more girls should be employed to prepare 60
boxes in 25 days ?

1) 40 23 d6a 424

IT 8 women completed two-fifth of a work in 18 day. working 8 hrs. a day, how many more
women should be employed to complete the remaining work In 6 days, each complete the
remaining work in 6 days, each working 9 hrs. a day ?

D72 2) 64 2 452

IT 5men or 8 girls can do a piece of work in 42 days in how many days can 20 men and 10 girls
do the same work ?

555 HB5ven S 8 $5008 edEen a8 HID 42 Blero® Bohedh. @ond 20 $500d HKsven
508050 10 $008 erOBen o8 HAD BINY SPeres® Fohresn?

1) 16 days 2) 8 days 3) 4 days 4) 12 days

. A certain number of men In a group can do a piece of work in 20 days. IF there are 6 men less
in the group, the remaining men can complete the work in 30 days. What was the number of
men in the group initially ?

Eo85008 a8 DAV 20 Bered® Vabreds. 6rH% SAIS® ©d HID 30 Fwes® Hregrh.
©0NY BN DOBB HoRBETTB?

D15 2) 16 3) 18 H20

- If Rohit had been twice as effcient as today then he would have finished a work in 12 days. If
his efficiency is reduced one fourth of what it is at present then in how fourth of what it is at
present then in how many days would he be able to finish the work ?

&%2»& @@geﬁw (85087 BoH 8@326(;\58 2.8 HAD 12 Sareod® Joheh. w88 @%atéegaﬁn
(B 8508T%) 1/43 Hodh wonds® Q) Sered® Sobress?

1) 24 days 2) 48 days 3) 36 days 4) 9% days

_ I 1 man or 3 boys or 5 girls can do a piece of work in 46 days, then in how many days 1 man,
1 boy and 1 girl can do the same ?

28 Hhes Soe QB> eretd B> ©ontiHD 8 2.8 HAY 46 Sleres® Johited.
@O &8 HDD, a8 arend HOAW &l rdE @ HAIY A Berod® Tohret?

1) 25 days 2) 30 days 3) 36 days 4) 9% days

o\

G



13. 6 boys and 5 girls can do a piece of work in 12 days, while 8 boys and 18 girls can do it In 6

4.

days. In how many days can 7 boys and 20 girls do the same work ?

6 19 aPendd HBAW 5 Hh erdEen 28 HAY 12 SPererd® Tohiedh. 8 H00d erendd H5H8a%n
18 08 dfen @& HAY 6 SPerod® Johredh. wand 96 DAY THEH wredd 20 HHod
ePd8en ) SPerod® Fohisets?

1) 6 days 2) 3 days 3) 10 days 4) 5 days

Ravi can doa a work in 15 days. Madhav is 25% more efficent than Ravi. In how many days
Madhav alone can do the work ?

8D a8 HAD 15 Seos® Sohined. SeES BT 25% HENS @béﬁaé@s;ﬁw Eoardd. ®@ond
SER & DA A SPered® FoherH?

1) 8 days 2) 20 days 3) 15 days 4) 12 days

KEY

D2 22 33 H2 51 64 D4 83 92
1003 114 12)2 13)1 14)4




(TIME AND WORK]

INTRODUCT ION

- IT a can do a piece of work in 8 days, he
will do 8 of the work in 1 day. And
conversely, ifaman cando 1/6 work in
1 day, he will do the work in 6 days.

IT “A” can do awork in “a” days and B can
do it in “b” days, then A and B

together can do it in days.

a+b

EXAMPLES

1) If Acan do awork in 8 days and B alone can
do it in 24 days. In how many days A and B
together can do the work ?

A 2.8 5D 8 Bleres®, B &8 $2 24 &Pereos®
BHKe. TOHHB OV & HAD SH SPereres®
Sohsetn?

2) A and B together can do a work in 60 days
and A alone can do it 80 days. In how many
days B alone can do 1t ?

A,B 95t a8 HA 60 Beros® Tohred. A
283 80 Beres® Tohew. B o HAJ Q)
Berers® Sohre?

3) A and B can do a piece of work in 40 days
and 60 days respectively. They work together
for 12 days and then B leaves. In how many
days the whole work is completed ?

A,B oo a8 HAQ 40,60 Sferest Sohred.
TBBHE O 12 Seren DY Soxd B
5@%)53‘5@3263. 00K B0 D FJeLrHers Qo
SPO0 o“aégawzéa?

4) A and B can do a work in 25 days and 20
days respectively. They together undertook to
do a piece of work for Rs. 1800. what is the
share of B ?

A,B e B 2.8 1D 25, 20 Seves®
BohKe. FBBHEE BV eHIBD K. 1800
Boar&oNd. ®ond B arér Qos?

5) A, Band C can do a work in 10, 20 and 30
days respectively. They completed that work
for Rs. 22,000. What is the share of C?
A,B,C eo &8 HQ 10, 20, 30 &eres®
SHtedh. FEosET O HA Kg)vgé?o &.
22,000 K068, @ond C 0er Jos?

6) A and B can do a work in 12 and 48 days
respectively. IT they work on altermate days.
A begins the work on which day will the work
be completed ?

A,B en a8 DI 12, 48 Sferes® Sohred.
TPOBRDD &80 SoXRE .80 Bl DB Gl
Voo, A @ HID FoKseo K. @and
O6% & HY B ?

7) A is thrice as good a workman as B.
Together they can do a work in 12 days. In
how many days B alone can do the work ?

A, B B3 SueHdéy @"Eﬁagpséw Loardd.
FOBSHER 0D e IIY 12 Slerest
Babriod. wond B @ HI Q) Sleros®
Bohken?

8) A is thrice as fast as B, and is there fore
able to finish a work in 10 days less than B
does. In how many days can it be completed
iT they work together ?

A,B 837 SothBeyR ﬁ*aeﬁ)gSzﬁD Boartd. 8D
B 852) 10 8%eren $5)% 90ohdns® 2.8 HIV
Zohrger. TOHHB EOD HABVES® &8 H
A BPeros® Frgrhke?

9) Two taps A and B can fill a tank in 6 hrs.
and 12 hrs. respectively. IT both the taps are
opened simultaneously, how long does It take
o fill etk ?

3ok HoHen A,B eo a8 wagoé):éa 6, 12

K080 QoK. @ Both 8OV HATVESE,
& émgoé: NI 5008° D0tHEr?

]
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| EXERCISE - 1 |

IT A can do a work in 4 days and B alone can do it in 12 days, in how many days A nad B
together can do the work ?

1 2 days 2) 3 days 3) 4 days 4) None
A and B together can do a work in 30 days and A alone can doa it in 40 days. In how many days
B alone cando it ?

1) 240 days 2) 60 days 3) 120 days 4) 200 days

A and B can do a plece of work in 24 days. B and C in 30 days, C and A in 40 days. How long
would all of them take to do the same work ?

1) 18 days 2) 20 days 3) 2 day 4) 24 days
Kiran can do a work in 20 days. which Saroj can do in 12 days. Saroj worked on it for 9 days
and leaves. In how many days can Kiran finish the remaining work ?

8865, $88Een a8 HAD 20, 12 Sleros® Sahred. S88E 96%ren $Q TS S 5@%)@&3.
@ond 886 WADS DAV A BPeres® Hrg Tohrews?

1) 3 days 2) 5 days 3) 8 days 4) 9 days

A and B can do a piece of work in 20 days and 30 days respectively. They work together for 6
days and then B leves. IN how many days the whole work is completed ?

A,B e 2.8 HID 20, 30 Sered® Vohroth. 0D SOV 6 Sleren TS B B YT,
0NN FSBXD DY FeEHHLE Do e ééé&?

1) 24 days 2) 27 days 3) 15 days 4) 16 days

A and b can do a work in 50 days and 40 days respectively. They together undetook the work
for Rs. 9000. What is the share of B?

1) Rs. 2000 2) Rs. 3500 3) Rs. 5000 4) Rs. 6600

A can do can work in 16 days. B alone can do i1t in 24 days. They together undetook the work
for Rs. 3200. What the help of c, they finished the work in 6 days. What is the share of C ?

1) Rs. 1200 2) Rs. 1600 3) Rs. 750 4) Rs. 980

A and B can do a work in 18 and 9 days respectively. IT they work on alternate days and A

begins the work in how many days can it be completed /

1) 12 days 2) 6 days 3) 14 days 4) 10 days

Pradeep is thrice as good a workman as Pramod. They can do a work together in 24 days. In

how many days Pramod alone can do the work ?

1) 16 days 2) 24 days 3) 36 days 4) 96 days

. Two taps A and B can fill a tank in 20 hrs. respectively. 1T both the taps are opended
simultaneously, how much time will it take to fill the tank ?

D 1hr. 20min. 2) 1hr. 36 min. 3 1hr. 12 min. 4 1hr. 8min.

- Two taps A and B can fill a tank in 20 hrs. and 30 hrs. Third tap C can empty the full tank in 60
hrs. IT all the taps are opened together how much time will it take to fill the tank ?

D Dhrs. 2) D hrs. 3 15hrs. D 12hrs.

. Two pipes A and B can fill a cistern in 16 hrs. and 24 hours respectivley, while pipe C can
empty it in 12 hrs. Inwhat time will the cistern be full, if all the pipes are opened together ?

D 40hrs. 2)48hrs. 3) Vhrs. D Bhrs.
= N\

G2
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4.

Two pipes A and B can fill a tank in 24 min and 30 min. respectively. Both are opened together
but after 8 min. A is tumed off. In how many more minutes, will the tank be filled ?

Bo&k HoHew A,B en a8 éo*goé;:éa 24, 30 .08° Q0HKOD). © Bokh OV 8 J.en HAT1D
SoRE 08 A éééé)‘?o?éﬁe, ESFSINI DE0RS0OSE & €505 JotH?
D 14 min. 2) 16 min. 3) 12 min. 4) 10 min.

Three pipes A, Band C can fill a tank in 12 hrs., 4 hrs, and 24 hrs. respectively. Pipe A is
opened at 6 a.m. At what time can the tank be filled ?

1) 10.40 A.M. 2) 9.30 A.M. 3) 10 A.M. 4) 10.20 AM.
A tank can be fillled by a pipe in 6 hrs. but due to a leak in the bottom it takes 2 hrs. longer to
fill it the tank is full, in hovmany hrs. will the leak empty 1t ?

a8 15080 a8 How) 6 KoereS® DoHKeR. 500 e €505 OINI &8 BoEen Hothey Jod
©d 2K0een aéa&zé DK00050S® Do&SH. ©wond éscgoé) Qo H& 25)26&58, 8 Jo(Rdw &
wgoé):éa A Kosrest 8;?@30‘535@633?

D16 hrs. 2) 18hrs. 3) Dhrs. D 24 hrs.

KEY

D2 23 32 H2 54 63 D1 91 94

1002 11)3 12)2 13)3 144 15)4




AREAS
;

5 Area of a Quadrilateral
1
5 = —~x diagonal x sum of the offsets
: 2
) (Diagonal)
Areaofsrquarez(sme)zzf 1
perimeter of a square =4a =Ed(hl+hz)
Diagonal = /23 6
|

b d b h \
b

1
Area of rectangle = Length X Breadth
Permeter of arectangle =2 (1 + b)

Diagonal = /|? + p?

7 AL

Area of a paral lelogram = Base x height

h
Area of Trapezium = E(a+ b)

1
Area of a Triangle = Ex base x height

Area of Triangle = /(s —a) (s-b) (S-C)

S_a+b+c
Area of a rhombus = Ex dd, 2
Wered , d are the lengths of the diagonals 8
Perimeter of a rhombus = 4a a a
= N\




Area of an equilateral triagle =T3 a’ Area of a sector = TIr? (%j
_ ] . 3 0
Fblg"lta’]a:”lla‘ﬂral u’lagle=7a |e'gﬂ']0farcofam: ZW(%j

perimeter = 3a

ag
AC? = AB? + Bc?

.I.I.r2
‘ Area of a Semi circle=7

Area of acircle =tr?
Cirunference of a circle =2nr Cirunference of a semi circle = 7r

Note : 1 Hectare = 10,000 sqg, metres
1 Acre =4, 000 sq, metres

-

/
0

( h|

{ EXERCISE )

The perimeter of a square is 60 cn. Find Its area ?

a8 SEYRX0 HepEod 60 200.8. T BregHod?

1) 155 cn? 2) 225 cn? 3) 245 cn? 4) 225 cn?

The side of a square is increased by 20%. By what percentage its area migth be increased ?
28 YR gheesdn 20% BRI, T Q@@é&ﬁw Q0 FPHEID DLH0?

1) 40% 2) 44% 3) 50% 4) 52%
The cost of cultivating a square Tield at Rs. 210 per Hectare is Rs. 840. What is the length of its
side ?

28 SE8H eI FrHBA0EE ?J°s£63§> 8. 210 TP . 840 T)onds. el gHassdo
Qoes?

1) 180 m 2) 190 m 3) 200 m 4) 210 m

The area of a rectangle is 216 sq. m. and its perimeter is 60 m. What is the possible length of
the rectangle ?

a8 égééaéﬁ()éw ;_%Pe)gzﬁ:a 216 $.80. é)ww?e)é 60 . o PEDH Dos?

1) 10m 2)11m 3) 18m 4) 13 m
7\

G5



How many square tilles of 3m sides are required to pave a rectangular hall of 45m lenth and
24 m broad ?

4580.0 KD, 24%.0 ey Ko 3@?.3 3 ﬁbéog ghesdmiie SEHYFrseE) Hoden Q) DBBHY)K0?
1) & 2) 100 3) 110 4) 120

A rectangular ground of 30 m x 20 m is surrounded by a path of 2 m wide. What is the area of
the path ?

30, 20 §)oe>g§ Sogeniie 525»56)6@96 é@zﬁwd)ea%; 2§beo§ SEen)d 6863@) o, 58&22
STegH0o8?

1) 216 n? 2) 512 ¥ 3) 343 ¥ 4) 125 m?

The sides of arectangle are in the ratio 3 : 2 and its areal is 726 sq- m. What is its length ?
a8 ég}é@é@zﬁw D), Jenyen 3:2 AYPBS® Bod). T Feegin 726 5..ev. ) FEB0L?
1) 28'm 2) 33m 3)35m 4)39m

The length a rectangle is increased by 30% and its breadth is decreased by 20%. What is the
percentage of change in its area ?

o8 BESHEBINS K 30% Bh, Iy 20% SHIS®, Y Beogind® Hrdy 08
S0 HotH0?

1) 2% 2) 3% 3) 4% 4) 5%
The area of a parallelongram is 432 sg. an. its aititude is thrice the corresponding base. What
is the length of its base ?

2.8 Jdross iﬁééaéaa)aéwéﬁ D), g8 3Ben. ol STegm 432 5.20.80.e0. T o
FPEDH Do&?

1) 15 cm 2) 18 cm 3) 12 cm 4) 20 cm

. The two diagonals of a rhombus are 8 cm and 6 cm. What is its area ?

2.8 oroaRs® Bok égzﬁw@ 8, 6 20..e0. D STegR00E?

1) 18sg- an 2) 24 sg- an 3) 28sg- an 4) 32 sg- am

- The perimeter of a rhombus is 68 cm and one of its diagonal is 30 cn. What is its area ?

a8 D00l HEpsed 68 R0.80.00. 2.8 80 30 20.80.e0 ©adS® T JTresRhod?

1) 190 c? 2) 220 cm? 3) 240 cm? 4) 280 c?

. Find the area of a quadrilateral if one of its diagonal is 16 cn and its offsets are 24 cnand 22
cm ?

28 zﬁééaéaa)aéwéﬁ égzﬁw 16 20.80.e0. 868 ADS ©oadype FEHen 24, 22 o.o.en.
o FPegos?

1) 288 cm? 2) 220 cm? 3) 428 cm? 4) 448 cm?




13. The two parallel sides of a trapezium are 8 an and 10 an. If its area is 72 sg. an., what is its

height?
2.8 (BRH8cHos® $ErosE ghasdmen 8, 10 o.8v.en. i Begn 72 $.20.80.e0. T &
Qoes?
1) 6am 2)8acm 3) 10 am 4) 12 cm
4. The sides of a triangle are 13, 14 and 15 an. What is its height ?
1) 72 o 2) 84 aw? 3) 89 ar? 4) 96 ar?

15. The height of an equilatral triangle is 3\/Ec:m. What is itsarea ?

D3J4cm? 293 3 7+/3cm? 4) 5,/3cm?

16. The sides of two equilateral triangles are in the ratio 1:3.What is the ratio of the areas?
Bot Doerso (Bghessned® ghadnen 1:3 AYPBS® HFHD. 8 Jwegive A Jos?
D25 219 323 D17

17. One side of a right angled triangele is 60 acn and its longer side is 100 cn. What is the area of
the triangele?

o8 ©ontin (BhHadns® @é’é?oig ghadm 100 0.8n.en. I8 gHesdn 60 o.So.ev.
STegH0o8?
1) 2400cn? 2) 25000 cm? 3) 2600 cm? 4) 2800 cm?

18. The diagonal of a square and the side of an equilateral triangle are equal in megniture. What is the
ratio of their aress?

28 S&HBRSDS égaﬁw $0805 2.8 DversTo (BgHazsdnd® gHhesdn ¥rSsw. T STOL0
AYB Vo&?
D2:5 23: .2 2.3 I YINEY

19. The circunference of a circle is 176 cn. What is its area?
a8 QP HepSod 176 200.8.e0. TR FEegoS?

1) 1836 c? 2) 2034 cm? 3) 2464 cm? 4) 2832 cm?

2. The diareters of o circles are iIn the ratio 2:5. What is the ratio of theilr areas?
Both Hswe agdsnes 2:5 IPES® L. 8 Jeopive IQYY Jod?

D35 2) 4:15 3 4:5 H7-11

2. There is a path of 1m wide, around a circular park of 10 m radius. Wyhat is the area of the
path?

10 &oesd wgﬁgéwﬁo QTS0 Joswiheop a8 oeady Jesenyd Ssc‘fa) Soth. 886%) STegHo8?
1) 66 sg-m 2) 68 sg-m. 3) 120 sg-m 4) 180 sq-m.

2. The radius of awheel is 28 cn. How many times does it revolve during a journey of 0.352 km.?
28 20.&. agﬁwgeﬁ:aﬁ@ SES0 Aoty BOASH, 0.352 8.8, Srdsn (HorBosnetn?
1) 180 rotatios 2) 190 rotatios 3) 20 rotatioins 4) 290 rotations

= N\

D



23. The circumference of a semi-circle is 72 cn. What is its area?
a8 @éé@éé;&és SenSd 72 200.8.e0. TR FEegRoS?
1) 302 c? 2) 308 ci? 3) 310 c? 4) 315 cm?

24. The radius of a circle is Increased by 10%. \What is the percentage of increase iIn iIts area?
a8 QP50 agﬁwgzﬁw 10% BALG. TPl SBPegw o8 FEH0 1BHI?
1) 18% 2) 20% 3) 21% 4) 23%

5. The radiius of a sector is 14 an and the length of the arc is 33 cn. What is the angle subtended
by the sector at the centre of the circle?

a8 ?oscgéaé‘g a‘g@‘ﬁgé:o 14 20.&.en. TH50 K 33 0.80.e0. el EPeadin So(sm Bl
Q08 HoLodn?

1) 210° 2) 185° 3) 145° 4) 135°

KEY

D2 22 3H3  H3 54 61 D2 3 93

10)2 11)3 12)2 13)2 142 152 162 1)1 183
1993 2003 2D)1 223 23)3 243 X)4




[VOLUMES AND SURFACE AREAS]

FORMULAE
cube :
a
a
a
a
Volume =a
Surface area = 6a?
Diagonal = J3a
Cuboid :
b
|
Volume =1Ibh
Surface area =2 [Ib+bh+ In]

Diagonal = VI +b*+h?
Area of 4walls of aroom=2h (1 +b)
Cylinder :

/‘\
&_/
h
a8
r
Volume = nrh
Curved sufrace area =2nrh
Total surface area =2nrh + 2nr?

=2nrh (hHr)

1_,
Cone : Volume = §1Tr h

Slant height = 1= ,/r2 +h?
Curnved surface area = nrl
Total surface area=nrl + nr?

Sphere :

4_ 3
Volume : —TIT

3
Surface area = 4nr?

Hemisphere :

S

3
Volume = §1Tr

Curved surface area = 2nr?
Total surface area = 3nr?




(EXERCISE - 1]

What i1s the surface area of a cube of volume 125 cu. cm ?
125 50.20.8.0 505585750 Ko o550t &hdse ST Do&B?
1) 110 cm? 2) 130 cm? 3) 180 cm? 4) 150 cm?

IT each edge of cube is Increased by 10% what is the percentage of increase in its bolume ?
28 HIINIB ghesdn 10% 0BAIB. TP 00DBITEI0 D0 B30 LN ?

1) 33. 2% 2) 45% 3) 23% 4) 33. 1%

A cube of side 6 cm is melted and formed into smaller cubes of side 2 cm each. How many
such smaller cubes can be made ?

6 20.80.0 2Hesdn Ko a8 SR o505 EBA0Y, 2 0. ghadn Ko HodSnenr At
B05ES, @@ 03500 Q) SATEIO0?

D12 2)18 327 H 3B
Three cubes of metal whose sides are 3, 4 and 5 cm are melted into a single cube. What is the
side of the resultant cube ?

1) 15 cm 2) 20 cm 3) 6 cm 4) 25 cm
What is the surface area of a cuboid ofF 8mx6x2m?

a8 ég@éméﬁ Soden 8,6,2 ﬁbéoég. P 6H0B @@@&ﬁn Q0o&?

1) 96sg- an 2) 112 sg. an 3) 64sg- an 4) 115sg- am

What is the surface area of a box, which is pened at the to and whose dimensions are 6 m xm
Xx2m?

6, 3, 2 e Fedeniie DEH DI Lo Bed. T GDHoBe FFeegEn od?
1) 36 n? 2) 54 7 3) 647 4) 92 P

The dimensions of a room are 30 m x 20 m x 18 m. What is the cost of papering the 4 walls of
the room @ Rs. 2 per sg- metre ?

30, 20, 18 §)>éo§ oden Ko el KOS Trentd Aol o Sa5ned, $.5.% &. 2 TP
Do 3963?%263?

1) Rs. 2600 2) Rs. 9000 3) Rs. 7500 4) Rs. 3600

What is the length of the longest pole, that can be placed in a cuboid of 10 m length 8 m
breadth and 5 m height ?

10, 8, 5 &y Sodeniie a8 éiﬁ» o350 HosiKe 0833 818 LD Do Hoton?

1) 517 m 2) 321 m 3) 105 m 4) None

What is the surface area of a box which is opened at the top, whose dimensions are 8mx 6 m
Xx3m?

1) 116 m? 2) 156 m? 3) 132 n? 4)186 n?

N\
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10. The radius of a cylinder is 3.5 acnand its height is 6 cn. What is the curved surface area ?
3.5 20.8.0 @53'%32633, 6 20.80.0 & Ko IRHINSH, B 608 JTeghod?
1) 118 cw? 2) 136 cm? 3) 180 cm? 4) 132 c?

1. Two cylinders have their heights in the ratio 4 : 3 and their radil inthe ratio 1 : 3. What is the
ratio of their volumes ?
2 Xmdime dden 4:3 JHBS® 0o THFEsmen 1:3 AYPBS® HH. B SHO[rLme
AYB Do&?
D9:17 D427 313:5 H1:5

12. The radius and height of a roller are 35 cm and 2 m respectively. How many square meter will
it cover in 20 rounds ?
2.8 BP0t agrEsn 350.80.e0 B0 d&) 2 el b 20 Hey BBASHE A ©.8.o
DB S Fobredd.
1) 70 m? 2) 88 3) 92 4)108 n?

13. The height of a cylinder is halved and its radius is increased to three times the initial radius.
What is the ratio between the initial volume and new volume ?
a8 @ézﬁneﬁs D& JNFHE 0B agﬁbgéw S0oeeHBE0008. NS PPHHBXTEI KL, DOAD
030N IS Do&?
D2:9 21:8 3)3;5 DH4:5

14. The radius of a conical tent is 7 mand its slant height is 12 m_ What is the area of canvas cloth
required to construct the tent ?
2.8 HEEHn Fognsd) esedsnd® e, wed D& 12 ibéoég P& ’7§béot§g. & DB
SRR STRR DE FTesToE?
1) 192 m? 2) 264 m? 3) 314 n? 414 n?

15. The radii of two cones are in the ratio 3 = 5 and their heights are in the ratio 1 - 3. What is the
ratio of their volumes ?
2 JognHho agrdiven 3:5 IBS® 2800 B Fen 1:3 IQYBS® o). 7O HBDOBTesDE
AYB Do&?
D5:17 24:13 3)3:5 H6:-11

16. The diameter ofr a sphere is 16 cn. This sphere is melted and small spherical balls of radius 2
cm each are formed. How many smaller balls can be made ?
16 20.d.0 agézﬁ:aﬁe) S5y gLt 88A0D, 2 20.5.o a‘gﬁwgzﬁwﬁ@ FBgSnenre a5
BB, @@ RéEsmen A BABrH0?
D16 224 38l Hea

17. The radius of a sphere is 7 cn. What is its surface area ?
1) 315 cm? 2) 343 ar 3) 616 cm? 4) 902 cm?
2.8 FP¥dmst TGS 7 200.8.e0. TR 69080 BTegHoS?

18. The surface area of Hemi - sphere is 462 sq- an. What is its curved surface area ?
a8 es)gﬁs%%:oés 635080 Jegkn 462 £.20.8.00. TR B 6080 STegHod?
1) 114 cw? 2) 212 c? 3) 308 cn? 4) 296 cm?

~ N\

G D



19. How many spherical bullets of radius 1.25 cm can be made out of a lead cylinder 20 cm high
and 5 cm radius ?

20 20.%.0 D&, 5 0.9 @g@“gzﬁw Ko S8 JoeHsiwdd 6Mod), 1.25 0.9 stg@“géw
Ko FPersed a8 AR BohDH)R?

1 125 2) 625 3) 156 1) 192
2. Acylinder and a core have the same radii. Thelr heights are in the ratio4 : 1. What is the ratio
of their volumes ?

2.8 Xmaim, e¥ Jogoa) DS agRrdines SDACHRD. T8 dden 4:1 AYBE® HH. &
0300w AP Vos?

DR:1 215:2 313:4 4H6:5
KEY
D4 24 33 H3 53 62 N4 82 93
10)4 11)2 12)2 13)1 142 153 16)4 17)3 18)3
19)4 20) 1










